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(3) àmÊ`m§Mo dJuH$aU
1) PwaimMo 'noarßbmZoQ>m' ho OoZo[aH$ Zmd H$moUr R>odbo?

1) {b{ZAg (1758) 2) S>r ~ra (1973) 3) ~wa‘o[añQ>a (1838) 4) ~|W‘ (1664)
1) Generic name of cockroach ’Periplaneta’ was assigned by :

1)  Linnaeus (1758) 2)  De Beer (1973)

3)  Burmerister (1838) 4)  Bentham (1664)

2) Q>°³PmoZm°‘r ¶m g§koMm OZH$ …
(a) A°[añQ>m°Q>b (b) {b{Z¶g (c) E.nr.S>r. H°$S>mob (d) ßboQ>mo
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (c) 4) ’$º$ (d)

2) The term Taxonomy was coined by :

(a) Aristotle (b) Linnaeus (c) A. P. de Candolle (d) Plato

Answer options :

1) Only (a) 2) Only (a) and (b) 3) Only (c) 4) Only (d)

3) Imbrb dJuH$aUemókm§Zm Ë`m§À`m dZñnVr dJuH$aU àUmbrdarb nwñVH$m§er Owidm.
a) B§½ba Am{U à±Q>b i) âbm°d[a¨J ßbm§Q²gMr CËH«$m§Vr Am{U dJuH$aU
b)  Om°Z h{MÝgZ ii) S>m` qH$dm Z°Ma{bMoZ âb°ÝPoZ’°{‘brZ
c)  ~|W‘ Am{U hÿH$a iii) âbm°d[a¨J dZñnVtMo Hw$Qw>§~
d) AmW©a H«$m°Z{¹$ñQ> iv) OoZoam ßbm§Q>ma‘
CÎma n`m©̀ :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iii) (ii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)

3) Match the following Taxonomists with their books on Plant Classification System :

a) Engler and Prantl i) The Evolution and Classification of Flowering Plants

b) John Hutchinson ii) Die or Naturlichen Pflanzenfamilien

c) Bentham and Hooker iii) Families of the Flowering Plants

d) Arthur Cronquist iv) Genera Plantarum

Answer options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iii) (ii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)
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4) àmÊ¶m§À¶m ~m~VrV Imbr H$mhr {dYmZo {Xbr AmhoV.
a) gd© n¥ð>d§er¶ àmUr g‘n¥ð>a‚my àmUr AmhoV. b) gd© àH$maMo njr hdoV CS>VmV.
c) gd© {H$Q>H$ nanmofr AmhoV. d) gd© ‘¥XþH$m¶ àmUr H$dMYmar AmhoV.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a AmhoV?
1) ’$º$ (b) Am{U (c) 2) ’$º$ (a) 3) ’$º$ (c) Am{U (d) 4) ’$º$ (b)

4) Some statements are given below about animals.

a) All vertebrates are chordates b) All birds fly in the air

c) All insects are parasites d) All molluscs bear shell.

Which of the statement given above is/are correct?

1) Only (b) and (c) 2) Only (a) 3) Only (c) and (d) 4) Only (b)

5) AmYw{ZH$ ¶moOZoZwgma dJuH$aUmMo nmM qH$JS>‘ Imbrbà‘mUo -
A) àmo{Q>ñQ>m, ’§$Om¶, ‘°‘obr¶m, A°ZobrS>m, ßbm§Q>r
~) ‘moZoam, àmo{Q>ñQ>m, ’§$Om¶, ßbm§Q>r, A°{Z‘obr¶m
H$) àmo{Q>ñQ>m, ’§$Om¶, ßbm§Q>r, nmoar’o$am, A°{Z‘obr¶m
S>) ‘moZoam, ’§$Om¶, ‘°‘obr¶m, ßbm§Q>r, A°{Z‘obr¶m
1) ’$º$ H$ 2) ’$º$ ~ 3) ’$º$ A 4) ’$º$ S>

5) The five kingdoms under the recent scheme of classification are

a. Protista, Fungi, Mammalia, Annelida, Plantae

b. Monera, Protista, Fungi, Plantae, Animalia

c. Protista, Fungi, Plantae, Proifera, Animalia

d. Monera, Fungi, Mammalia, Plantae, Animalia

Which of the option given above is correct ?

1) Only c 2) Only b 3) Only a 4) Only d

6) Imbrbn¡H$s H$moUVm amÁ¶ àmo{Q>ñQ>m g¥ï>rMm ^mJ Zmhr?
1) hm¶{S´>bm 2) A‘r~m 3) n°am‘o{e¶‘ 4) ẁp½cZm

6) Which of following is NOT a member of kingdom Protista?

1)  Hydrilla 2)  Amoeba 3)  Paramecium 4)  Euglenaell

7) àmUrdJuH$aUmgmR>r Imbrbn¡H$s H$moUVr nm¶ar dmnabr OmVo ?
1) àOmVr → OmV → Am°S>©a → dJ© → Hw$i → g§K → g¥ï>r
2) g¥ï>r → OmV → Am°S>©a → àOmVr → g§K → dJ© → Hw$i
3) OmV → àOmVr → g§K → dJ© → Am°S>©a → Hw$i → g¥ï>r
4) g¥ï>r → g§K → dJ© → Am°S>©a → Hw$i → OmV → àOmVr

7) Which steps of taxons are followed for classification of animals?

1) Species — Genus — Order —  Class —  Family— Phylum — Kingdom

2) Kingdom — Genus —  Order —  Species — Phylum —  Class —  Family

3) Genus— Species —  Phylum —  Class — Order —  Family —  Kingdom

4) Kingdom — Phylum — Class —  Order — Family — Genus —  Species

8) ‘mdm qH$dm VwS>VwS>o {H$S>r ho H$moUË¶m Am°S>©a‘Ü¶o (JQ>m‘Ü¶o) ‘moS>VmV ?
1) bo{nS>moßQ>oam 2) H$mo{bAmoßQ>oam 3) {S>ßQ>oam 4) ho‘rßQ>oam
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8) Leafhoppers or Jasside belong to order ......

1) Lepidoptera 2) Coleoptera 3) Diptera 4) Hemiptera

9) àmÊ`m§À`m H«$‘mÀ`m OmoS>çm Ë`m§À`m {’$aÊ`mÀ`m gd`ter Owidm:
a)  Am°S>©a {MamoßQ>oam i)  ~wê$O, ImoXUo Am{U MT>Uo
b) Am°S>©a S>‘m}nQ>oam ii)  doJmZo {’$aVo, PmS>mnmgyZ PmS>mda PmoHo$ KoVo.
c) Am°S>©a àmB‘oQ²g iii)  Am~m}[a`b àmUr Am{U H$m ©̀j‘ ½bm`S>a AmhoV
d)  Am°S>©a ’$mo{bS>moQ>m iv) ho gñVZ àmUr gVV CÈ>mU H$aÊ`mg gj‘ AmhoV
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (i) (iv)

4) (iv) (iii) (ii) (i)

9) Match the pairs of animal order with their moving habits :

a) Order Chiroptera i) Burrows, digs and also climbs

b) Order Dermoptera ii) Moves fast, swings from tree to tree .

c) Order Primates iii) Are arboreal creatures and efficient gliders

d) Order Pholidota iv) Are mammals capable of sustained flight

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (i) (iv)

4) (iv) (iii) (ii) (i)

10) Jm§Sy>i hm àmUr H$moUË¶m g§KmV ¶oVmo?
1) nmo[a’o$am 2) {gc|Q>oamQ>m 3) A°{Z{cS>m 4) ‘mocwñH$m

10) To what Phylum does Earthwarm belong?

1) Porifiera 2) Coelenterata 3) Annelida 4) Mollusca

11) Imbrb Owidm :
  JQ> "A'       JQ> "~'
a) dmoamo{ZZ I) Zo‘mQ>moS>
b) ZrS>h°‘ II) àmoQ>moPmoAmZ ‘m`Šgmo‘m`goQ²g
c) ~rOo[a¨H$ III) {OdmUy
d) ~w[ab IV) {dfmUy
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) I II III IV

2) IV Ill II I

3) II I IV III

4) III IV I II
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11) Match the following :

  Group ‘A’        Group ‘B’

a) Woronin I) Nematode

b) Needham II) Protozoan Myxomycetes

c) Beijerinck III) Bacteria

d) Burrill IV) Virus

Answer options :

(a) (b) (c) (d)

1) I II III IV

2) IV Ill II I

3) II I IV III

4) III IV I II

12) {damMmobm Am`gmoH«o$Q²g gm‘mÝ`V… ...... åhUyZ AmoiIbo OmVo.
1) qb~y ’w$bnmIê$ 2) S>mqi~ ’w$bnmIê$ 3) ’«y$Q> âbm` 4) gm`bm

12) Virachola isocrates is commonly known as ......

1) Lemon butterfly 2) Pomegranate butterfly

3) Fruit fly 4) Psylla

13) An¥ð>d§er àmÊ¶m§Mm Xþgam gdm©V ‘moR>m JQ> H$moUVm?
1) AmW«m} nmoS>m 2) nmo[a’o$am 3) ‘mobwñH$m 4) E{H$ZmoS>‘m©Q>m

13) Which is the second largest phylum of invertebrate ?

1) Arthropoda 2) Porifera 3) Mollusca 4) Echinodermata

14) e§IemómMm Aä¶mg åhUOo H$emMm Aä¶mg ?
1) {gc|Q>aoQ> 2) ‘mocwñH$m 3) ‘mocwñH$m§Mo H$dM 4) ‘mocwñH$m§Mo AmdaU

14) Conchology is the study of what ?

1) Coelenterates 2) Mollusca

3) Shells of Mollusca 4) Mantle of Mollusca

15) ganQ>Umao àmUr Am{U gñVZ àmUr `m§À`mVrb Xwdm åhUyZ Imbrbn¡H$s H$moUË`m àmÊ`mbm {’$bmoOoZo{Q>H$ ‘hÎd Amho?
1) H$m§Jmê$ 2) Echidna 3) Sorex 4) ggm

15) Which of the following animals has phylogenetic significance, as it serves a link between reptiles

and mammals ?

1) Kangaroo 2) Echidna 3) Sorex 4) Rabbit
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16) Imbrb OmoS>çm Owidm …
a) {bM i) nmBgrP
b) Am°³Q>mong ii) aoßQ>r{c`m
c) S>m°J{’$e iii) ‘mobwñH$m
d) ñQ>oJmogmag iv) A°{Z{bS>m

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (iv) (ii) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (iii) (i) (ii)

16) Match the following :

a) Leech i) Pisces

b) Octopus ii) Reptilia

c) Dogfish iii) Mollusca

d) Stegosaurus iv) Annelida

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (iv) (ii) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (iii) (i) (ii)

17) ‘Ëñ¶ Cng§dJm©Vrb H$moUVm ‘mgm ObX ObVaUnQy> Am{U pìhpìh{nag Amho?
1) {M‘oam 2) amohÿ 3) ñH$mo{bAmoS>m°Z 4) {gëìha {’$e

17) Inclass Pisces which fish is fast swimmer and viviparous ?

1) Chimaera 2) Rohu 3) Scoliodon 4) Silver Fish

18)  ¶mo½¶ OmoS>çm bmdm :
    JQ> 'A'    JQ> 'B'
a) g°c°‘°ÊS>a i) erVaº$s
b) ~XH$MmoMm ii) g°Ý½drdmoag
c) Oiy iii) Ag‘{‘V
d) n°am‘o{e`‘ iv) A§S>O gñVZ àmUr
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) ii i iii iv

2) i iv ii iii

3) i ii iv iii

4) ii iv i iii
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18) Match the following :

Group ‘A’ Group ‘B’

a) Salamander i) Poikilothermic

b) Duckbilled Platypus ii) Sanguivorous

c) Leech ‘ iii) Asymmetrical

d) Paramecium iv) Egg laying mammal

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (i) (iv) (ii) (iii)

3) (i) (ii) (iv) (iii)

4) (ii) (iv) (i) (iii)

19) Imbrbn¡H$s H$moUVm/H$moUË¶m àmUr/àmÊ¶m§Mm g‘yh ho ganQ>Umao àmUr ¶m dJm©V ‘moS>VmV?
a) nmb, gmn, ~oSy>H$ Am{U bmoarg b) H$mgd, KS>r¶mb, H°$‘oZ Am{U Q>m°Q>¶mam
c) H$mgd, ‘Ja, g°bo‘|S>a Am{U nmb d) g°bo‘|S>a, gaS>m, H$mgd Am{U ~oSy>H$
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (c) Am{U (d) 4) darbn¡H$s gd©

19) Which of the following is/are group / groups of reptilian animals ?

a) Lizard, Snake, Frog and Loris b) Turtle, Gharial, Caiman and Tuatara

c) Turtle, Crocodile, Salamander and Lizard d) Salamander, Catotes, Turtle and Frog

Answer Options :

1) Only (b) 2) Only (b) & (c) 3) Only (c) & (d) 4) All of the above

20) Imbrb OmoS>çm Owidm.
a) nm¶WZ ‘mobwég i) {h‘moQ>m°p³gH$
b) ZmOm ZmOm ii) A§Y gmn
c) ìhm¶na añgrbr iii) Ý¶wamoQ>m°p³gH$
d) Q>m¶âbmoßg ~«m{‘Zmg iv) {~Z {dfmar
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

3) (iii) (ii) (i) (iv)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

20) Match the following :

a) Python molurus i) Haemotoxic

b) Naja naja ii) Blind snake

c) Viper russelli iii) Neurotoxic

d) Typhlops braminus iv) Non-poisonous
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Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (i) (iv)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

21) Imbrb OmoS>çm Owidm …
        gñVZ àmÊ¶m§Mo àH$ma CXmhaU
(a) W¡br Agbobo gñVZ àmUr i) ~«°S>rng
(b) CS>Umam gñVZ àmUr ii) ‘°H«$mong
(c) XmV Zgbobm gñVZ àmUr iii) ‘Zrg
(d) ‘§w½¶m ImUmam gñVZ àmUr iv) Q>oamong
n¶m©¶r CÎmao …
1) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii) 2) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

3) (a)-(iii), (b)-(iv), (c)-(iii), (d)-(i) 4) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

21) Match the following :

      Mammal type   Example

(a) Pouched Mammal (i) Bradypus

(b) Flying Mammal (ii) Macropus

(c) Toothless Mammal (iii) Manis

(d) Ant eater Mammal (iv) Pteropus

Answer options :

1) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii) 2) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

3) (a)-(iii), (b)-(iv), (c)-(iii), (d)-(i) 4) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

CÎmao - (8) àmÊ`m§Mo dJuH$aU

1-3 2-3 3-3 4-2 5-2 6-1 7-4 8-4 9-4 10-3
11-3 12-2 13-3 14-3 15-2 16-4 17-3 18-2 19-1 20-1
21-1
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(9) Am{XOrd, ñn§O, Obì¶mb  àmUr
1) Q´m`H$mo‘moZmg `mo{ZZm{bg ho ......... Amho.

1) ~waer 2) {OdmUy 3) àmoQ>moPwAm 4) {dfmUy
1) Trichomonas vaginalis is a ..........

1) Fungi 2) Bacteria 3) Protozoa 4) Virus

2) boe‘°{Z`mMm boßQ>mo‘moZmS> àH$ma `m‘Ü ò AmT>iVmo :
1) ‘mUyg 2) g±S> âbm` 3) Ëgo-Ëgo âbm` 4) ~oS> ~J

2) Leptomonad form of Leishmania is found in :

1) man 2) sand fly 3) tse-tse fly 4) bed bug

3) A‘r~m hm àmoQ>moPwAZ àmUr Amho. H$maU -
A) EH$ noer¶ àmUr Á¶m‘Ü¶o CVr Am{U Ad¶d ZmhrV. ~) gd© àmÊ¶m§‘Ü¶o àmMrZ d gm‘mÝ¶ àmUr.
H$) N>X²‘nmXmMm dmna hmbmMmbrgmR>r H$aVmo. S>) A§Jmda {N>Ðo Agbobm àmUr.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ A Am{U H$ 3) ’$º$ A, ~ Am{U H$ 4) ’$º$ H$ Am{U S>

3) Amoeba is a protozoan animal because

a.  it is a cellular animal without tissues and organs.

b.  it is the simplest and most primitive of all animals.

c.  pseudopodia is present for locomotion.

d.  it is a pore-bearing animal.

Which of the statement/s given above is/are correct ?

1)  Only a                   2)  Only a and c 3) Only a, b and c         4)  Only c and d

4) Imbrb OmoS>çm Owidm:
a) hm`S´m i)  àmoQ>moPmoAm / Am{XOrd
b) Amon{bZm ii) nmo[a’o$am / ñn§O
c) gm`H$m°Z iii) A°Zo{bS>m / db¶m§{H$V
d) Hirudinaria granulosa iv) {gb|Q>oa°Q>m / Obì¶mb
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (iv) (i) (ii) (iii)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (ii) (iv)
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4) Match the following :

a) Hydra i) Protozoa

b) Opalina ii) Porifera

c) Sycon iii) Annelida

d) Hirudinaria granulosa iv) Coelenterata

Answer options :

(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (iv) (i) (ii) (iii)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (ii) (iv)

5) Am°ao{b¶mÀ¶m bmadb ñQ>oOMm Imbrbn¡H$s ¶mo½¶ H«$‘ H$moUVm?
1) ßbmÝ¶wbm, hm¶S´>mQ>çw~m, gm¶{nñQ>mo‘m, B©{’$am 2) ßbmÝ¶wbm, B©{’$am, gm¶{’$ñQ>mo‘m, B©{’$am
3) gm¶{’$ñQ>mo‘m, ßbmÝ¶wbm, hm¶S´>mQ>çw~m, B©{’$am 4) hm¶S´>mQ>çw~m, B©{’$am, ßbmÝ¶wbm, gm¶{’$ñQ>mo‘m

5) Which one of the following is the correct sequence of larval stages of Aurelia ?

1) Planula, Hydratuba, Scyphistoma, Ephyra 2) Planula, Ephyra, Scyphistoma, Hydratuba

3) Scyphistoma, Planula, Hydratuba, Ephyra 4) Hydratuba, Ephyra, Planula, Scyphistoma

6) Imbrbn¡H$s H$moUË¶m eVvMm g§M Amo~o{b¶mbm gdm}Îm‘nUo bmJy hmoVmo?
1) nm°{b‘m°{’©$H$, H$mobmo{Z¶b, A°¹°${Q>H$
2) ‘arZ, {gS>oÝQ>ar Am{U H$mobmo{Z¶b
3) ‘arZ, {gS>oÝQ>ar, nm°{b‘m°{’©$H$
4) ‘arZ, {gS>oÝQ>ar, H$mobmo{Z¶b, nm°{b‘m°{’©$H$ {dW Q¯> AëQ>aZoeZ Am°’$ OZaoeZ

6) Which of the following set of terms is best applicable to Obelia ?

1)  Polymorphic, Colonial, Aquatic

2)  Marine, Sedentary and Colonial

3)  Marine, Sedentary, Polymorphic

4)  Marine, Sedentary, Colonial, Polymorphic with true alternation of generation

7) H$moUVm {gb|Q>oamQ>m gr noZ qH$dm gr ’o$Xa åhUyZ à{gÕ Amho?
1) AëgrAmo{Z`‘ 2) noZ°Qw>bm 3) Jm°Jm}{Z`m 4) Am°ao{b`m

7) Which coelenterata is popularly known as “sea pen” or “sea feather”?

1) Alcyonium 2) Pennatula 3) Gorgonia 4) Aurelia

CÎmao - (9) Am{XOrd, ñn§O, Obì¶mb  àmUr

1-3 2-2 3-3 4-2 5-1 6-4 7-2
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(10) MnQ>H¥$‘r, JmobH¥$‘r, db¶m§{H$V  àmUr
1) noarn°Q>g‘Ü¶o nm¶mÀ¶m {H$Vr OmoS>çm AgVmV?

1) 10-15 OmoS>çm 2) 10-20 OmoS>çm 3) 14-43 OmoS>çm 4) 15-40 OmoS>çm
1) The number of legs found in Peripatus is

1)  10 - 15 pairs 2)  10 - 20 pairs 3)  14 - 43 pairs 4)  15 - 40 pairs

2) ßbo{Q>hopë‘¨Wg²Mo AemàH$mao gdm}Îm‘ åhUyZ dU©Z Ho$bo Amho…
1) âb°Q>dåg©, {Q´>nbmoãbmpñQ>H$, A{gbmo‘oQ> àmUr 2) âb°Q>dåg©, {S>ßbmoãbmpñQ>H$, A{gbmo‘oQ> àmUr
3) âb°Q>dåg©, {Q´>nbmoãbmpñQ>H$, {gbmo‘oQ> àmUr 4) âb°Q>dåg©, {Q´>nbmoãbmpñQ>H$, ñ¶wS>mo{gbmo‘oQ> àmUr

2) Platyhelminthes are best describe as :

1) Flatworms, triploblastic, acoelomate animal

2) Flatworms, diploblastic, acoelomate animal

3) Flatworms, triploblastic, coelomate animal

4) Flatworms, triploblastic, pseudocoelomate animal

3) Imbrbn¡H$s H$moUVr {dYmZo ¶mo½¶ AmhoV ?
a) Q>o{Z¶m gmobr¶‘bm hþH$ O§V Ago åhQ>bo OmVo.
b) ’°$ñgrbm hono{Q>H$mbm ¶H¥$V ¶m ZmdmZo AmoiIob OmVo.
c) A°ÝH$mbmoñQ>mo‘m S>çwS>oZbbm Q>on O§V Agohr åhQ>bo OmVo.
d) Zoaog {MëH$mEZgrg ho gm‘mÝ¶V… qMYr O§V Ago åhUVmV.
n¶m©¶r CÎmao …
1) (c) ’$º$ 2) (b) Am{U (d) ’$º$ 3) (a) ’$º$ 4) (a) Am{U (c) ’$º$

3) Which of the statements given below is/are correct?

a) Taenia solium is called as Hookworm.

b) Fasciola hepatica is commonly known as liver fluke.

c) Ancylostoma duodenale is also called as Tapeworm.

d) Nereis chilkaensis is commonly called as Ragworm.

Answer Options :

1) (c) Only 2) (b) and (d) Only 3) (a) Only 4) (a) and (c) Only

4) ñH$mam~oB©’$m°‘© Aù`m ............ H«$‘mZo AmT>iVmV.
1) AmoS>moZmQ>m 2) H$mo{bAmoßQ>oam 3) {S>ßQ>oam 4) bo{nS>moßQ>oam

4)  Scarabaeiform larvae are found in order ............

1) Odonata 2) Coleoptera 3) Diptera 4) Lepidoptera

CÎmao - (10) MnQ>H¥$‘r, JmobH¥$‘r, db¶m§{H$V  àmUr

1-3 2-1 3-2 4-2
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(11) g§YrnmX, ‘¥XþH$m¶, H§$Q>H$sM‘u, AY©n¥ð>d§er¶ àmUr
1) PwaimMo 'noarßbmZoQ>m' ho OoZo[aH$ Zmd H$moUr R>odbo?

1) {b{ZAg (1758) 2) S>r ~ra (1973) 3) ~wa‘o[añQ>a (1838) 4) ~|W‘ (1664)
1) Generic name of cockroach ’Periplaneta’ was assigned by :

1)  Linnaeus (1758) 2)  De Beer (1973)

3)  Burmerister (1838) 4)  Bentham (1664)

2) àmUr g¥îQ>rVrb gdm©V ‘moR>m Am{U gdm©V `eñdr àOmVr JQ> H$moUVm Amho?
1) AmW«m}nm°S²g 2) ‘mobwñH$m 3) E°Zo{bS>m 4) {gboZQ>oamQ>m

2) Which phylum is the largest and most successful group of animal kingdom ?

1) Arthropods 2) Mollusca 3) Annelida 4) Coelenterata

3) {damMmobm Am`gmoH«o$Q²g gm‘mÝ`V… ...... åhUyZ AmoiIbo OmVo.
1) qb~y ’w$bnmIê$ 2) S>mqi~ ’w$bnmIê$ 3) ’«y$Q> âbm` 4) gm`bm

3) Virachola isocrates is commonly known as ......

1) Lemon butterfly 2) Pomegranate butterfly

3) Fruit fly 4) Psylla

4) AmW«m}nmoS>m OmVr¶ àmÊ¶m§Mo {d{eï> JwUY‘© H$moUVo AmhoV?
A) gdm©V ‘moR>r ’$mBb‘ ~) ñHo$boQ>Z {M{Q>ZZo PmH$bobo Amho
H$) I§{S>V eara S>) {Ûnjr¶ g‘{‘Vr eara
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A d ~ 3) ’$º$ A, ~ Am{U H$ 4) A, ~, H$ d S>

4) What are the peculiar characters of phylum Arthropoda ?

a) Largest phylum b) Skeleton is covered with chitin

c) Segmented body d) Bilaterally symmetry body

Answer options :

1) Only a 2) Only a and b 3) Only a, b and c 4) a, b, c and d

5) àmUr g¥îQ>rVrb gdm©V ‘moR>m Am{U gdm©V `eñdr àOmVr JQ> H$moUVm Amho?
1) AmW«m}nm°S²g 2) ‘mobwñH$m 3) E°Zo{bS>m 4) {gboZQ>oamQ>m

5) Which phylum is the largest and most successful group of animal kingdom ?

1) Arthropods 2) Mollusca 3) Annelida 4) Coelenterata

6) Imbrbn¡H$s, àmo~mo{g{S>`m Am°S>©aMo d¡{eï²>`nyU© d¡{eï²>` H$moUVo Zmhr?
1) nm`mMo Vido ‘D$ Am{U ’°$Q>r Cer nm§T>è¶m bd{MH$ V§Vy§Zr PmH$bobo AgVmV.
2) H$mZ ho H$maÀ`m ao{S>EQ>agmaIo AgVmV.
3) Vo é{‘Z§Q> AmhoV Am{U Ë`m§Zm {nÎm ‘yÌme` Zmhr.
4) {H$S>Zr‘Ü ò 5-7 bmo~ AgVmV.
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6) Among the following, which one is nof the characteristic feature of the order Proboscidea ?

1) The soles of the feet are covered with soft and fatty cushion white elastic fibres.

2) Ears are like the radiator of a car.

3) They are ruminants and have no gall bladder.

4) Thekidney has 5—7 lobes.

7) ‘mocwñH$m dJu¶ àmUr ‘¥XþH$m¶ AgVmV. Am{U Vo Imcrc d¡{eîQ>ço YmaU H$aVmV :
A) Vo àm{Ug¥ï>r‘Yrc Xþgam gdm©V ‘moR>m dJ© Amho. ~) gd©gmYmaUnUo Vo {Ûnjr¶ g‘{‘Vr¶ AgVmV
H$) Vo ’$º$ O{‘ZrdaM amhVmV. S>) Ë¶m§Zm ‘m§gc nm¶ AgVmV.
darcn¡H$s H$moUVo {dYmZ /{dYmZo ~amo~a AmhoV ?
1) ’$º$ A 2) A, ~ Am{U S> 3) A, ~ Am{U H$ 4) ’$º$ A Am{U ~

7) Phyllum Mollusca contains soft bodied animals characterized of :

a. They are second largest phyllum in animal kingdom

b. They are generally bilaterally symmetrical

c. They are only Terrestrial animals

d. They are having muscular foot

Which of the statements given above is/are correct ?

1) only a 2) a, b and d 3) a, b and c 4) only a and b

8) Imbrb OmoS>çm Owidm:
a)  S°́JZâbm` i) ßboH$moßQ>oam
b) {’$eâbm` ii)  B’o$‘oamonoQ´m
c) ‘oâbmBO iii) Ý ỳamoßQ>oam
d) ñQ>moZâbmBO iv)  AmoS>moZmQ>m
CÎma n`m©̀ :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (iii) (ii)

4) (ii) (i) (iii) (iv)

8) Match the following :

a) Dragonflies i) Plecoptera

b) Fishilies ii) Ephemeropetra

c) Mayflies iii) Neuroptera

d) Stoneflies iv) Odonata

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (iii) (ii)

4) (ii) (i) (iii) (iv)
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9) àmUr g¥îQ>rVrb gdm©V ‘moR>m Am{U gdm©V `eñdr àOmVr JQ> H$moUVm Amho?
1) AmW«m}nm°S²g 2) ‘mobwñH$m 3) E°Zo{bS>m 4) {gboZQ>oamQ>m

9) Which phylum is the largest and most successful group of animal kingdom ?

1) Arthropods 2) Mollusca 3) Annelida 4) Coelenterata

10) Heterorhabditidae Hw$Qw>§~mVrb E§Q>mo‘mon°WmoOo{ZH$ Zo‘mQ>moS²gMm ......... gh nañna g§~§Y AgVmo.
1) Zmogo‘m 2) ’$moQ>moah°~S>g 3) ~°{gbg 4) ~°Š ẁbmoìhm`ag

10) Entomopathogenic nematodes in family Heterorhabditidae have mutualistic association with ..........

1) Nosema 2) Photorhabdus 3) Bacillus 4) Baculovirus

11) ñH$mam~oB©’$m°‘© Aù`m ............ H«$‘mZo AmT>iVmV.
1) AmoS>moZmQ>m 2) H$mo{bAmoßQ>oam 3) {S>ßQ>oam 4) bo{nS>moßQ>oam

11)  Scarabaeiform larvae are found in order ............

1) Odonata 2) Coleoptera 3) Diptera 4) Lepidoptera

12) {damMmobm Am`gmoH«o$Q²g gm‘mÝ`V… ...... åhUyZ AmoiIbo OmVo.
1) qb~y ’w$bnmIê$ 2) S>mqi~ ’w$bnmIê$ 3) ’«y$Q> âbm` 4) gm`bm

12) Virachola isocrates is commonly known as ......

1) Lemon butterfly 2) Pomegranate butterfly

3) Fruit fly 4) Psylla

CÎmao - (11) g§YrnmX, ‘¥XþH$m¶, H§$Q>H$sM‘u, AY©n¥ð>d§er¶ àmUr

1-3 2-1 3-2 4-4 5-1 6-3 7-2 8-1 9-1 10-2
11-2 12-2
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(12) ‘Ëñ¶dJ©, C^¶Ma, garg¥n
1) Imbrbn¡H$s H$moUVm ‘mgm Am°ñQ>rH$WmB©O dJm©Vrb Amho ?

1) emH©$ 2) pñQ>§J ao 3) H$Q>bm 4) BcopŠQ´H$ ao
1) Which of the following fish belongs to class Osteichthyes ?

1) Shack 2) Sting ray 3) Catla 4) Electric ray

2) ‘Ëñ¶ Cng§dJm©Vrb H$moUVm ‘mgm ObX ObVaUnQy> Am{U pìhpìh{nag Amho?
1) {M‘oam 2) amohÿ 3) ñH$mo{bAmoS>m°Z 4) {gëìha {’$e

2) Inclass Pisces which fish is fast swimmer and viviparous ?

1) Chimaera 2) Rohu 3) Scoliodon 4) Silver Fish

3) Imbrbn¡H$s H$moUVm/H$moUË¶m àmUr/àmÊ¶m§Mm g‘yh ho ganQ>Umao àmUr ¶m dJm©V ‘moS>VmV?
a) nmb, gmn, ~oSy>H$ Am{U bmoarg b) H$mgd, KS>r¶mb, H°$‘oZ Am{U Q>m°Q>¶mam
c) H$mgd, ‘Ja, g°bo‘|S>a Am{U nmb d) g°bo‘|S>a, gaS>m, H$mgd Am{U ~oSy>H$
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (c) Am{U (d) 4) darbn¡H$s gd©

3) Which of the following is/are group / groups of reptilian animals ?

a) Lizard, Snake, Frog and Loris b) Turtle, Gharial, Caiman and Tuatara

c) Turtle, Crocodile, Salamander and Lizard d) Salamander, Catotes, Turtle and Frog

Answer Options :

1) Only (b) 2) Only (b) & (c) 3) Only (c) & (d) 4) All of the above

4) Imbrbn¡H$s H$moUË¶m àmUr g‘whmZo / g‘whm§Zr àW‘V… O{‘Zrda OrdZmMm Adb§~ Ho$bm?
A) ganQ>Umao àmUr ~) C^¶Ma àmUr H$) gñVZ àmUr S>) njr (CS>Umao àmUr)
n¶m©¶r CÎmao …
1) ’$º$ H$ Am{U S> 2) ’$º$ ~ Am{U S> 3) ’$º$ A 4) ’$º$ ~

4) Which of the following animal group/groups was/were the first vertebrate to become adapted to

life  on land ?

a.   Reptilians b.  Amphibians c.  Mammals d.  Aves

Answer Options :

1)   Only c and d 2)   Only b and d 3)  Only a 4) Only b

5) Imbrbn¡H$s H$moUVm/H$moUË¶m àmUr/àmÊ¶m§Mm g‘yh ho ganQ>Umao àmUr ¶m dJm©V ‘moS>VmV?
a) nmb, gmn, ~oSy>H$ Am{U bmoarg b) H$mgd, KS>r¶mb, H°$‘oZ Am{U Q>m°Q>¶mam
c) H$mgd, ‘Ja, g°bo‘|S>a Am{U nmb d) g°bo‘|S>a, gaS>m, H$mgd Am{U ~oSy>H$
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (c) Am{U (d) 4) darbn¡H$s gd©

5) Which of the following is/are group / groups of reptilian animals ?

a) Lizard, Snake, Frog and Loris b) Turtle, Gharial, Caiman and Tuatara

c) Turtle, Crocodile, Salamander and Lizard d) Salamander, Catotes, Turtle and Frog

Answer Options :

1) Only (b) 2) Only (b) & (c) 3) Only (c) & (d) 4) All of the above
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6) gñVZ àmÊ¶m§À¶m öX¶m‘Ü¶o hmoUmam aº$m{^gaUmMm H«$‘ gm§Jm.
a) S>mdr bhmZ nmoH$ir / H$ßnm b) COdr bhmZ nmoH$ir / H$ßnm
c) S>mdr ‘moR>r nmoH$ir / H$ßnm d) COdr ‘moR>r nmoH$ir / H$ßnm
n¶m©¶r CÎmao …
1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

6) Give the sequence of blood circulation in mammalian heart.

a) Left auricle b) Right auricle c) Left ventricle d) Right ventricle

Answer Options  :

1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

7) hoQ´>moZoarg ‘Ü¶o CÎmamdVu ^mJmV OZZJ«§Wr {dH${gV hmoVmV. Ë¶m OZZJ«§Wr I§S>mg ............. åhUVmV.
1) E{nQ>moH$ 2) EQ>moH$ 3) hoQ>amoJoZr 4) ‘oQ>m~mobr

7) In heteroneresis the gonads are developed in the posterior part of the body. These gonads bearing

segments are called :

1) Epitoke 2) Atoke 3) Heterogamy. 4) Metaboly

8) ‘Ëñ¶ Cng§dJm©Vrb H$moUVm ‘mgm ObX ObVaUnQy> Am{U pìhpìh{nag Amho?
1) {M‘oam 2) amohÿ 3) ñH$mo{bAmoS>m°Z 4) {gëìha {’$e

8) Inclass Pisces which fish is fast swimmer and viviparous ?

1) Chimaera 2) Rohu 3) Scoliodon 4) Silver Fish

9) Imbrb OmoS>çm Owidm:
a) {S>ßZmoB© i)  gm`ŠbmoñQ>mo‘
b) Eboñ‘mo~«±H$s ii) ’w$â’w$gmMm ‘mgm
c) Q>o{bAmoñQ>r iii) hmS>mMm ‘mgm
d) ‘m{g©nmo~«±H$s iv) H$m{Q©>bm{JZg ‘mgo
CÎma n`m©̀ :

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iii) (iv) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (iii) (ii) (i)

9) Match the following :

a) Dipnoi i) Cyclostomes

b) Elasmobranchii ii) Lung fish

c) Teleostei iii) Bony fish

d) Marsipobranchii iv) Cartilaginous fish

Answer options :

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iii) (iv) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (iii) (ii) (i)
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10) Imbrbn¡H$s H$moUVm/H$moUË¶m àmUr/àmÊ¶m§Mm g‘yh ho ganQ>Umao àmUr ¶m dJm©V ‘moS>VmV?
a) nmb, gmn, ~oSy>H$ Am{U bmoarg b) H$mgd, KS>r¶mb, H°$‘oZ Am{U Q>m°Q>¶mam
c) H$mgd, ‘Ja, g°bo‘|S>a Am{U nmb d) g°bo‘|S>a, gaS>m, H$mgd Am{U ~oSy>H$
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (c) Am{U (d) 4) darbn¡H$s gd©

10) Which of the following is/are group / groups of reptilian animals ?

a) Lizard, Snake, Frog and Loris b) Turtle, Gharial, Caiman and Tuatara

c) Turtle, Crocodile, Salamander and Lizard d) Salamander, Catotes, Turtle and Frog

Answer Options :

1) Only (b) 2) Only (b) & (c) 3) Only (c) & (d) 4) All of the above

11) Imbrb OmoS>çm Owidm.
a) nm¶WZ ‘mobwég i) {h‘moQ>m°p³gH$
b) ZmOm ZmOm ii) A§Y gmn
c) ìhm¶na añgrbr iii) Ý¶wamoQ>m°p³gH$
d) Q>m¶âbmoßg ~«m{‘Zmg iv) {~Z {dfmar
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

3) (iii) (ii) (i) (iv)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

11) Match the following :

a) Python molurus i) Haemotoxic

b) Naja naja ii) Blind snake

c) Viper russelli iii) Neurotoxic

d) Typhlops braminus iv) Non-poisonous

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (i) (iv)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

CÎmao - (12) ‘Ëñ¶dJ©, C^¶Ma, garg¥n
1-3 2-3 3-1 4-4 5-1 6-3 7-1 8-3 9-1 10-1
11-1
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(13) njr, gñVZ àmUr
1) ganQ>Umao àmUr Am{U gñVZ àmUr `m§À`mVrb Xwdm åhUyZ Imbrbn¡H$s H$moUË`m àmÊ`mbm {’$bmoOoZo{Q>H$ ‘hÎd Amho?

1) H$m§Jmê$ 2) Echidna 3) Sorex 4) ggm
1) Which of the following animals has phylogenetic significance, as it serves a link between reptiles

and mammals ?

1) Kangaroo 2) Echidna 3) Sorex 4) Rabbit

2)  ¶mo½¶ OmoS>çm bmdm :
    JQ> 'A'    JQ> 'B'
a) g°c°‘°ÊS>a i) erVaº$s
b) ~XH$MmoMm ii) g°Ý½drdmoag
c) Oiy iii) Ag‘{‘V
d) n°am‘o{e`‘ iv) A§S>O gñVZ àmUr
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) ii i iii iv

2) i iv ii iii

3) i ii iv iii

4) ii iv i iii

2) Match the following :

Group ‘A’ Group ‘B’

a) Salamander i) Poikilothermic

b) Duckbilled Platypus ii) Sanguivorous

c) Leech ‘ iii) Asymmetrical

d) Paramecium iv) Egg laying mammal

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (i) (iv) (ii) (iii)

3) (i) (ii) (iv) (iii)

4) (ii) (iv) (i) (iii)

CÎmao - (13) njr, gñVZ àmUr

1-2 2-2
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(14) àmÊ¶m§Mo eara d M¶mnM¶Z
1) noarn°Q>g‘Ü¶o nm¶mÀ¶m {H$Vr OmoS>çm AgVmV?

1) 10-15 OmoS>çm 2) 10-20 OmoS>çm 3) 14-43 OmoS>çm 4) 15-40 OmoS>çm
1) The number of legs found in Peripatus is

1)  10 - 15 pairs 2)  10 - 20 pairs 3)  14 - 43 pairs 4)  15 - 40 pairs

2) gñVZ àmÊ¶m§À¶m öX¶m‘Ü¶o hmoUmam aº$m{^gaUmMm H«$‘ gm§Jm.
a) S>mdr bhmZ nmoH$ir / H$ßnm b) COdr bhmZ nmoH$ir / H$ßnm
c) S>mdr ‘moR>r nmoH$ir / H$ßnm d) COdr ‘moR>r nmoH$ir / H$ßnm
n¶m©¶r CÎmao …
1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

2) Give the sequence of blood circulation in mammalian heart.

a) Left auricle b) Right auricle c) Left ventricle d) Right ventricle

Answer Options  :

1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

3) ~¡bm§Mo dr ©̀ Jmoim H$aVmZm H¥${Ì‘ `moZrMo AmVrb Vmn‘mZ ................. À`m Xaå`mZ Agmdo.
1) 42°C to 46°C 2) 47°C to 52°C 3) 38°C to 40°C 4) 25°C to 37°C

3) During semen collection of bulls the inner temperature of Artificial Vagina should be between

..........

1) 42°C to 46°C 2) 47°C to 52°C 3) 38°C to 40°C 4) 25°C to 37°C

4) eoù`m§À`m dOZmZwgma X¡Z§{XZ H$moaS>çm nXmWm©Mr Amdûm`H$Vm Imbrbn¡H$s H$moUVr Amho?
1) 10 Vo 15% 2) 8 Vo 10% 3) 20 Vo 25% 4) 3 Vo 5%

4) Which of the following is the daily dry matter requirement as per weight in goats ?

1) 10 to 15% 2) 8 to 10% 3) 20 to 25% 4) 3 to 5%

5) ad§W H$aUmè¶m new‘Ü¶o Zm°Z-àmoQ>rZ Zm`Q´moOZ ẁº$ ómoVm§Mm `eñdrnUo dmna Ho$bm OmV Amho -
A) A‘mo{Z`‘ A°grQ>oQ> ~) A‘mo{Z`‘ ~m`H$m~m}ZoQ> H$) A‘mo{Z`‘ H$m~m}ZoQ> S>) A‘mo{Z`‘ b°ŠQ>oQ>
n¶m©¶r CÎmao :
1) A Am{U S> ’$º$ 2) A Am{U ~ ’$º$ 3) A Am{U H$ ’$º$ 4) darb gd©

5) Non-protein nitrogenous sources being used successfully for ruminants are -

a) Ammonium acetate b) Ammonium bicarbonate

c) Ammonium carbonate d) Ammonium lactate

Answer options :

1) a and d only 2) a and b only 3) a and c only 4) All of the above

6) Jm`t‘Ü ò «̂yU hñVm§VaUmgmR>r Amìí¶H$ Agboë¶m gwnaAmoìhþboeZgmR>r ............  hm‘m}ZMm dmna Ho$bm OmVmo.
1) Luteinising hm‘m}Z 2) Oestrogen

3) àmoOoñQ>oam°Z 4) ’$m°{bH$b-CÎmoOH$ g§àoaH$
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6) ............... hormone is used for superovulation in cows for embryo transfer.

1) Luteinising hormone 2) Oestrogen

3) Progesterone 4) Follicle-stimulating hormon

7) {dfmar gmnm§‘Ü ò H$moUË`m J«§Wr ~XbyZ {df J«§Wr ~ZVmV?
1) go~o{e`g J«§Wr 2) goé{‘Zg J«§Wr 3) bmi J«§Wr 4) A§V…òmdr J«§Wr

7) In poisonous snakes which glands are modified to form poison gland ?

1) Sebaceous gland 2) Ceruminous gland 3) Salivary gland 4) Endocrine gland

8) ‘mo{Z{b’$m°‘© àH$maMo A±Q>oZm ............... ‘Ü ò AmT>iVmV.
1) Xr‘H$ 2) JdVmi 3) nV§J 4) ŵ§Jo

8) Moniliform type of antennae are found in ...............

1) Termites 2) Grasshoppers 3) Moths 4) Weevils

9) ^mbm ho AmoiIÊ`mgmR>r dmnabo OmUmao ‘hÎdmMo d¡{eï²>` Amho -
1) ‘mobwñH$m 2) AmW«m}nmoS²g 3) H$sQ>H$ 4) Zo‘mQ>moS>

9) The spear is an important characteristic used for identification of -

1) Mollusca 2) Arthropodes 3) Insects 4) Nematodes

10) ............. ho H$sQ>H$m§À`m dmT>rMo {Z`m‘H$ Amho Oo AZoH$ emofH$ H$sQ>H$m§da à^mdr {gÕ Pmbo Amho,
1) gm §̀Q´m{Z{bàmob 2) {’$àmo{Zb 3) nm`[aàm°Šgr’o$Z 4) àmonmJm©BQ>

10) ............. is an insect growth regulator proved effective against a number of sucking pests,

1) Cyantraniliprole 2) Fipronil 3) Pyriproxyfen 4) Propargite

11) H$sQ>H$ZmeHo$ H$sQ>H$m§Zm {df~mYm H$aVmZm Ë¶m§À¶m H$moUË¶m g§ñWm§Zm à^m{dV H$aVmV?
1) ídgZ g§ñWm 2) ‘‚mm g§ñWm 3) ñZm¶y g§ñWm 4) n[adhZ g§ñWm

11) Insecticide poison the insect pests by affecting their

1)  Respiratory system 2)  Nervous system

3)  Muscular system 4)  Circulatory system

12) AYyZ‘YyZ H$sQ>H$m§‘Ü ò, A§XmOo {H$Vr dfmªV GEP H$sQ>H$m§gmR>r  EIL bm ñne© H$aVo?
1) 2 dfmªnojm H$‘r 2) 2 Vo 5 dfmªÀ`m Xaå`mZ
3) 16 dfmªnojm OmñV 4) 10 Vo 15 dfmªÀ`m Xaå`mZ

12) In occasional pests, GEP touches EIL for insect pests in approximately how many years ?

1) Less than 2 years 2) Between 2 to 5 years

3) More than 16 years 4) Between 10 to 15 years

13) `mo{Z‘mJm©À`m AmV b°ŠQ>mo~°{gbrÀ`m dmT>r‘wio nrEM ‘yë¶ A§XmOo ......... n¶ªV H$‘r hmoVo Am{U AZoH$ KmVH$ amoJOZH$m§À`m
dmT>rg à{V~§Y hmoVmo:
1) 4.5 2) 8.5 3) 9.5 4) 11.5

13) Growth of lactobacilli within the vaginal vault reduce the pH to approximately ......... and prevents

the growth of many opportunities pathogens :

1) 4.5 2) 8.5 3) 9.5 3) 11.5
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14) Hw$Í`m§‘Yrb Adm§pÀN>>V J ©̂YmaUm H$moUË`m EH$m hm‘m}Ýg CnMmamZo Q>miVm òVo ?
A) S>m`{Wb pñQ>b~oñQ>oam°b ~) EñQ°́{S>Amob ~|PmoEQ>
c) EñQ°́{S>Amob àmo{nEQ> d) EñQ°́{S>Amob ìh°boaoQ>
n`m©¶r CÎmao :
1) A, ~ Am{U H$ ’$º$ 2) A Am{U H$ ’$º$ 3) darbn¡H$s Zmhr 4) darb gd©

14) Undesired pregnancy in bitches can be prevented by using any one treatment consisting of ..

a) Diethyl stilbesterol b) Estradiol benzoate

c) Estradiol proprionate d) Estradiol valerate

Answer Options :

1) a, b and c only 2) a and c only 3) None of the above 4) All of the above

15) H$sQ>H$ZmeHo$ H$sQ>H$m§Zm {df~mYm H$aVmZm Ë¶m§À¶m H$moUË¶m g§ñWm§Zm à^m{dV H$aVmV?
1) ídgZ g§ñWm 2) ‘‚mm g§ñWm 3) ñZm¶y g§ñWm 4) n[adhZ g§ñWm

15) Insecticide poison the insect pests by affecting their

1)  Respiratory system 2)  Nervous system

3)  Muscular system 4)  Circulatory system

16) {Xdgm qH$dm amÌr qH$dm h§Jm‘r Vmn‘mZmVrb {Z`{‘V ~Xbm§Zm gOrdm§Mm à{VgmX Ago åhUVmV.
1) ’$moQ>mono[aAm°{S>P‘ 2) X¡Z§{XZ Vmn‘mZ 3) W‘m}no[a`mo{S>P‘ 4) nrH$ dmT>

16) Response of living organism to regular changes in temperature, either day or night or seasonal is

termed as

1) Photoperiodism 2) Diurnal temperature

3) Thermoperiodism 4) Crop growth

17) ‘wº$ {Od§V àmoQ>moPmoAm‘Ü ò Amhma XoÊ`mMr nÕV Amho:
1) hmobmoPmoBH$ 2) gàmoPmoBH$ 3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s Zmhr

17) Mode of feeding in free living protozoans is :

1) Holozoic 2) Saprozoic 3) Both (1) and (2) 4) None of the above

18). Imbrbn¡H$s H$moUVr bmb aº$ àUmbr Zmhr?
1) Ho$b 2) S>’$s 3) ABO 4) HLA

18) Which of the following is NOT a red blood system?

1)  Kell 2)  Duffy 3)  ABO 4)  HLA

19) ............. ho H$sQ>H$m§À`m dmT>rMo {Z`m‘H$ Amho Oo AZoH$ emofH$ H$sQ>H$m§da à^mdr {gÕ Pmbo Amho,
1) gm §̀Q´m{Z{bàmob 2) {’$àmo{Zb 3) nm`[aàm°Šgr’o$Z 4) àmonmJm©BQ>

19) ............. is an insect growth regulator proved effective against a number of sucking pests,

1) Cyantraniliprole 2) Fipronil 3) Pyriproxyfen 4) Propargite

20) ~wbÀ`m go{‘Zb ìho{gH$ëgMo òmd ^anya à‘mUmV AgVmV
1) H$m°na 2) ’«w$ŠQ>moO 3) ‘°ZmoO 4) Oob
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20) Bull’s seminal vesicles secretions are rich in

1) Copper 2) Fructose 3) Mannose 4) Gel

21) ~¡bm§À`m go{‘Zb ìho{gH$ëgÀ¶m òmdm‘Ü¶o ......... KQ>H$ ^anya à‘mUmV AgVmV
1) H$m°na 2) ’«w$ŠQ>moO 3) ‘°ZmoO 4) Oob

21) Bull’s seminal vesicles secretions are rich in ......

1) Copper 2) Fructose 3) Mannose 4) Gel

22) ‘wº$ OrdZe¡brÀ¶m àmoQ>moPmoAm‘Ü ò Amhma XoÊ`mMr .......... nÕV Amho:
1) hmobmoPmoBH$ 2) gàmoPmoBH$ 3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s Zmhr

22) Mode of feeding in free living protozoans is :

1) Holozoic 2) Saprozoic 3) Both (1) and (2) 4) None of the above

23) Jm`t‘Ü ò «̂yU hñVm§VaUmgmR>r Amìí¶H$ Agboë¶m gwnaAmoìhþboeZgmR>r ............  hm‘m}ZMm dmna Ho$bm OmVmo.
1) Luteinising hm‘m}Z 2) Odcstrogen

3) àmoOoñQ>oam°Z 4) ’$m°{bH$b-CÎmoOH$ g§àoaH$
23) ............... hormone is used for superovulation in cows for embryo transfer.

1) Luteinising hormone 2) Odcstrogen

3) Progesterone 4) Follicle-stimulating hormon

24) àmW{‘H$ A{dH${gV AdñWoV OÝ‘mbm òUmè¶m ZdOmV gOrdmbm ....... Ago åhUVmV:
1) ‘oQ>mWo[a`m 2) ẁWo[a`m 3) àmoQ>moWo[a`m 4) darbn¡H$s Zmhr

24) The young are born alive but in a rudimentary undeveloped condition is known as :

1) Metatheria 2) Eutheria 3) Prototheria 4) None of the above

25) ............. ho H$sQ>H$m§À`m dmT>rMo {Z`m‘H$ Amho Oo AZoH$ emofH$ H$sQ>H$m§da à^mdr {gÕ Pmbo Amho,
1) gm §̀Q´m{Z{bàmob 2) {’$àmo{Zb 3) nm`[aàm°Šgr’o$Z 4) àmonmJm©BQ>

25) ............. is an insect growth regulator proved effective against a number of sucking pests,

1) Cyantraniliprole 2) Fipronil 3) Pyriproxyfen 4) Propargite

26) EImÚm MmMUr à¶moJmV H$sQ>H$m§À`m 50% bmoH$g§»¶og ‘maÊ`mgmR>r Amdí`H$ Agboë¶m H$sQ>H$ZmeH$mÀ`m à‘mUmbm
...... åhUVmV.
1) RL50 2) LD50 3) 150 4) KD50

26) The concentration of insecticide required to kill 50% test population experiment of insect is

called as ......

1) RL50 2) LD50 3) 150 4) KD50

27) nm`aoW«rZ Am{U n°S>mo‘-E ...... AmhoV.
1) qgWo{Q>H$, g|{Ð` H$sQ>H$ZmeHo$ 2) AO¡{dH$ H$sQ>H$ZmeHo$
3) Z¡g{J©H$, g|{Ð` H$sQ>H$ZmeHo$ 4) darbn¡H$s H$moUVohr Zmhr

27) Pyrethrine and Padom-A are ......

1) Synthetic, Organic insecticides 2) Inorganic insecticides

3) Natural, Organic insecticides 4) None of the above
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28) H$sQ>H$ZmeHo$ H$sQ>H$m§Zm {df~mYm H$aVmZm Ë¶m§À¶m H$moUË¶m g§ñWm§Zm à^m{dV H$aVmV?
1) ídgZ g§ñWm 2) ‘‚mm g§ñWm 3) ñZm¶y g§ñWm 4) n[adhZ g§ñWm

28) Insecticide poison the insect pests by affecting their

1)  Respiratory system 2)  Nervous system

3)  Muscular system 4)  Circulatory system

29) Imbrbn¡H$s H$moUË`m gyú‘Ordm‘Ü ò A°ñQ>°Šg°pÝWZ a§JÐì` AgVo?
1) Saccharomyces cerevisiae 2) Aspergillus oryzae

3) ’$m{’$`m amoS>moPm`‘m 4) H°$pÝS>S>m Apë~H$Ýg
29) Which of the following microorganism contains astaxanthin pigment ?

1) Saccharomyces cerevisiae 2) Aspergillus oryzae

3) Phaffia rhodozyma 4) Candida albicans

30) {Xdgm qH$dm amÌr qH$dm h§Jm‘r Vmn‘mZmVrb {Z`{‘V ~Xbm§Zm gOrdm§Mm à{VgmX Ago åhUVmV.
1) ’$moQ>mo{n[aAm°{S>P‘ 2) X¡Z§{XZ Vmn‘mZ 3) W‘m}no[a`mo{S>P‘ 4) nrH$ dmT>

30) Response of living organism to regular changes in temperature, either day or night or seasonal is

termed as

1) Photoperiodism 2) Diurnal temperature

3) Thermoperiodism 4) Crop growth

31) gñVZ àmÊ¶m§À¶m öX¶m‘Ü¶o hmoUmam aº$m{^gaUmMm H«$‘ gm§Jm.
a) S>mdr bhmZ nmoH$ir / H$ßnm b) COdr bhmZ nmoH$ir / H$ßnm
c) S>mdr ‘moR>r nmoH$ir / H$ßnm d) COdr ‘moR>r nmoH$ir / H$ßnm
n¶m©¶r CÎmao …
1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

31) Give the sequence of blood circulation in mammalian heart.

a) Left auricle b) Right auricle c) Left ventricle d) Right ventricle

Answer Options  :

1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

32) ................ Ord íboî‘mgmaIm nm°{bgoHo$amBS> òm{dV H$aVmo Oo {d{dY OrdmUy§À`m àOmVtZm OmoS>Ê`mgmR>r n¥ð>^mJ
{’$ëQ>a H$aÊ`mgmR>r Am{U gm§S>nmUr à{H«$ ò‘Ü ò âbm°H$ V`ma H$aÊ`mg ‘XV H$aVo.
1) Zoogloea ramigera 2) Aerobacter aerogenes

3) EgrQ>mo~°ŠQ>a EgrQ>r 4) ~°{gbg g~{Q>{bg
32) ................ organism secerets a mucous-like polysaccharide which helps in the attachment of various

bacterial species to filter surfaces and floc formation in sewage treatment.

1) Zoogloea ramigera 2) Aerobacter aerogenes

3) Acetobacter aceti 4) Bacillus subtilis
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CÎmao - (14) àmÊ¶m§Mo eara d M¶mnM¶Z

1-3 2-3 3-1 4-4 5-4 6-4 7-3 8-1 9-4 10-3
11-2 12-2 13-1 14-3 15-2 16-3 17-3 18-2 19-3 20-2
21-2 22-3 23-4 24-1 25-3 26-2 27-3 28-2 29-3 30-3
31-3 32-1
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(15) àmUr eara{dkmZ
1) noarn°Q>g‘Ü¶o nm¶mÀ¶m {H$Vr OmoS>çm AgVmV?

1) 10-15 OmoS>çm 2) 10-20 OmoS>çm 3) 14-43 OmoS>çm 4) 15-40 OmoS>çm
1) The number of legs found in Peripatus is

1)  10 - 15 pairs 2)  10 - 20 pairs 3)  14 - 43 pairs 4)  15 - 40 pairs

2) AYyZ‘YyZ H$sQ>H$m§‘Ü ò, A§XmOo {H$Vr dfmªV GEP H$sQ>H$m§gmR>r  EIL bm ñne© H$aVo?
1) 2 dfmªnojm H$‘r 2) 2 Vo 5 dfmªÀ`m Xaå`mZ
3) 16 dfmªnojm OmñV 4) 10 Vo 15 dfmªÀ`m Xaå`mZ

2) In occasional pests, GEP touches EIL for insect pests in approximately how many years ?

1) Less than 2 years 2) Between 2 to 5 years

3) More than 16 years 4) Between 10 to 15 years

3) hÎmt‘Ü ò J ©̂YmaUoMo {ZXmZ Imbrb AmYmamda Ho$bo OmD$ eH$Vo :
A) 10 AmR>dS>çm§Z§Va BñQ´moOoZMr dmT>bobr nmVir
~) àmoñQ>°½b±{S>ZMr nmVir 3 Vo 8 AmR>dS>çmV dmT>br
H$) àmob°pŠQ>Z 4-6 ‘{hÝ`m§V 200-600 nQ>rZo dmT>Vo
S>) 15 {Xdgm§Zr AëQ´mgmoZmoJ«m’$s
n¶m©¶r CÎmao :
1) (A) Am{U (~) 2) (H$) ’$º$ 3) (A) ’$º$ 4) (A), (~), (H$), (S>)

3) The pregnancy diagnosis in Elephants can be made on the basis of following :

a) Elevated level of estrogen after 10 weeks

b) Prostaglandin level increased at 3 to 8 weeks

c) Prolactin rises 200-600 times higher during 4-6 months

d) Ultrasonography after 15 days

Answer Options :

1) (a) & (b) 2) (c) only 3) (a) only 4) (a), (b), (c), (d)

4) {dfmar gmnm§‘Ü ò H$moUË`m J«§Wr ~XbyZ {df J«§Wr ~ZVmV?
1) go~o{e`g J«§Wr 2) goé{‘Zg J«§Wr 3) bmi J«§Wr 4) A§V…òmdr J«§Wr

4) In poisonous snakes which glands are modified to form poison gland ?

1) Sebaceous gland 2) Ceruminous gland 3) Salivary gland 4) Endocrine gland

5) {dfmar gmnm§‘Ü ò H$moUË`m J«§Wr ~XbyZ {df J«§Wr ~ZVmV?
1) go~o{e`g J«§Wr 2) goé{‘Zg J«§Wr 3) bmi J«§Wr 4) A§V…òmdr J«§Wr

5) In poisonous snakes which glands are modified to form poison gland ?

1) Sebaceous gland 2) Ceruminous gland 3) Salivary gland 4) Endocrine gland

6) J°ñQ´>monmoS>m (Gastropoda) dJm©Vrb JmoJbJm¶rMo H$dM ...... ìhm°ëdZo (valve) ~Zbobo AgVo.
1) Xþhoar (Double) 2) EHo$ar (Single) 3) Mm¡nXar (Quadruple) 4) {Vhoar (Triple)

6) Class Gastropoda include snails with ...... valved shell.

1) Double 2) Single 3) Quadruple 4) Triple
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7) Am{XOrdm§À¶m Imbrbn¡H$s H$moUË¶m dJm©Mm JwUY‘© ~¥hX²H|$ÐH$ Am{U gyú‘H|$ÐH$ ¶m§Mo ApñVËd hm Amho?
1) H$em{^H$s (âbmOobmQ>m) 2) N>ÙnmXr (gmaH$moS>rZm)
3) ~rOmUwYmar (ñnmoamoPmoAm) 4) amo‘H$s ({g{bAmQ>m)

7) Presence of a macronucleus and a micronucleus is the characteristic of which of the following

classes of protozoa?

1) Flagellata 2) Sarcodina 3) Sporozoa 4) Ciliata

8) qdMy hm ...... àmUr Amho.
1) A§S>r XoUmam 2) {ncm§Zm OÝ‘ XoUmam 3) darcn¡H$s XmoÝhr 4) ¶mn¡H$s H$moUVohr Zmhr

8) Scorpions are

1) Oviparous 2) Viviparous 3) Both above 4) None of the above

9) ñH$mam~oB©’$m°‘© Aù`m ............ ¶m àmUr JQ>mV( order) AmT>iVmV.
1) AmoS>moZmQ>m 2) H$mo{bAmoßQ>oam 3) {S>ßQ>oam 4) bo{nS>moßQ>oam

9)  Scarabaeiform larvae are found in order ............

1) Odonata 2) Coleoptera 3) Diptera 4) Lepidoptera

10) ‘mo{Z{b’$m°‘© àH$maMo A±Q>oZm ............... ‘Ü ò AmT>iVmV.
1) dmidr /Xr‘H$ 2) ZmH$VmoS>m/JdVmi 3) nV§J 4) ŵ§Jo

10) Moniliform type of antennae are found in ...............

1) Termites 2) Grasshoppers 3) Moths 4) Weevils

11) ^mbm ho AmoiIÊ`mgmR>r dmnabo OmUmao ‘hÎdmMo d¡{eï²>` Amho -
1) ‘mobwñH$m 2) AmW«m}nmoS²g 3) H$sQ>H$ 4) Zo‘mQ>moS>

11) The spear is an important characteristic used for identification of -

1) Mollusca 2) Arthropodes 3) Insects 4) Nematodes

12) gñVZ àmÊ¶m§À¶m öX¶m‘Ü¶o hmoUmam aº$m{^gaUmMm H«$‘ gm§Jm.
a) S>mdr bhmZ nmoH$ir / H$ßnm b) COdr bhmZ nmoH$ir / H$ßnm
c) S>mdr ‘moR>r nmoH$ir / H$ßnm d) COdr ‘moR>r nmoH$ir / H$ßnm
n¶m©¶r CÎmao …
1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

12) Give the sequence of blood circulation in mammalian heart.

a) Left auricle b) Right auricle c) Left ventricle d) Right ventricle

Answer Options  :

1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

13) hoQ´>moZoarg ‘Ü¶o CÎmamdVu ^mJmV OZZJ«§Wr {dH${gV hmoVmV. Ë¶m OZZJ«§Wr I§S>mg ............. åhUVmV.
1) E{nQ>moH$ 2) EQ>moH$ 3) hoQ>amoJoZr 4) ‘oQ>m~mobr

13) In heteroneresis the gonads are developed in the posterior part of the body. These gonads bearing

segments are called :

1) Epitoke 2) Atoke 3) Heterogamy. 4) Metaboly
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14) gmYmaUnUo nmo[a’o$am‘Ü¶o J°‘rQ H$em‘wio V¶ma hmoVmV ?
1) H$mo¶mZmogmB©Q²>g 2) Am{H©$AmogmB©Q²>g 3) ‘m¶mogmB©Q²>g 4) {nZmH$mogmB©Q²>g

14) Normally in porifera the gametes are formed by

1) Choanocytes 2) Archaeocytes 3) Myocytes 4) Pinacocytes

15) VéU {Od§V OÝ‘mbm òVmV na§Vw àmW{‘H$ A{dH${gV AdñWoV Ago åhUVmV:
1) ‘oQ>mWo[a`m 2) ẁWo[a`m 3) àmoQ>moWo[a`m 4) darbn¡H$s Zmhr

15) The young are born alive but in a rudimentary undeveloped condition is known as :

1) Metatheria 2) Eutheria 3) Prototheria 4) None of the above

16) {H$ZmanÅ>rÀ`m {eamMm nm`Ï`mer .......... H$moZ H$sQ>H$mVrb n§Im§À`m gm‘mÝ` {eao‘Ü ò AgVmo.
1) JwXÛmamg§~§Yr 2) A°{nH$b 3) Humeral 4) VQ>r`

16) At the base of coastal vein  .......... angle is present in general veination of wing in insect.

1) Anal 2) Apical 3) Humeral 4) Coastal

17) Jm§Sy>imMo {Zd©hZ H$aUmao Ad¶d -
A) n°amnmo{S>¶‘ ~) àmo½bm°{Q>S²>g H$) {gQ>o¶ S>) ñ¶yS>monmo{S>¶m
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ 3) ’$º$ A Am{U S> 4) ’$º$ ~ Am{U S>

17) Locomotory organ in earthworm is

a) Parapodium b) Proglottids c) Setae d) Pseudopodia

Answer options :

1) Only a and b 2) Only c 3) Only a and d 4) Only b and d

18) Jm§Sy>imMo {Zd©hZ H$aUmao Ad¶d -
A) n°amnmo{S>¶‘ ~) àmo½bm°{Q>S²>g H$) {gQ>o¶ S>) ñ¶yS>monmo{S>¶m
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ 3) ’$º$ A Am{U S> 4) ’$º$ ~ Am{U S>

18) Locomotory organ in earthworm is

a) Parapodium b) Proglottids c) Setae d) Pseudopodia

Answer options :

1) Only a and b 2) Only c 3) Only a and d 4) Only b and d

19) Imbrbn¡H$s H$moUË¶m OmVrÀ¶m àmÊ¶mV Iwbr aº$m{^gaU àUmbr Amho?
1) AmWm}nmoS>m 2) A°Zo{bS>m 3) gm¶³bmoñQ>mo‘mQ>m 4) nm¶gog

19) Animals of which phylum contains open circulatory system ?

1) Arthropoda 2) Annelida 3) Cyclostomata 4) Pisces

20) ‘mo{Z{b’$m°‘© àH$maMo A±Q>oZm ............... ‘Ü ò AmT>iVmV.
1) Xr‘H$ 2) JdVmi 3) nV§J 4) ŵ§Jo

20) Moniliform type of antennae are found in ...............

1) Termites 2) Grasshoppers 3) Moths 4) Weevils
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21) EImÚm H$sQ>H$mÀ¶m n§ImMr daÀ¶m ~mOyMr era Am{U Ë¶mMo eara ¶m§À¶mVrb H$moZmg  .......... åhUVmV.
1) JwXÛma H$moZ 2) A°{nH$b  H$moZ 3) øy‘ab H$moZ 4) H$moñQ>b H$moZ

21) At the base of coastal vein  .......... angle is present in general veination of wing in insect.

1) Anal 2) Apical 3) Humeral 4) Coastal

22) gmYmaUnUo nmo[a’o$am‘Ü¶o J°‘rQ H$em‘wio V¶ma hmoVmV ?
1) H$o¶mZmogmB©Q²>g 2) Am{H©$AmogmB©Q²>g 3) ‘m¶mogmB©Q²>g 4) {nZmH$mogmB©Q²>g

22) Normally in porifera the gametes are formed by

1) Choanocytes 2) Archaeocytes 3) Myocytes 4) Pinacocytes

23) Imbrbn¡H$s, àmo~mo{g{S>`m Am°S>©aMo d¡{eï²>`nyU© d¡{eï²>` H$moUVo Zmhr?
1) nm`mMo Vido ‘D$ Am{U ’°$Q>r Cer nm§T>`m© bd{MH$ V§Vy§Zr PmH$bobo AgVmV.
2) H$mZ ho H$maÀ`m ao{S>EQ>agmaIo AgVmV.
3) Vo é{‘Z§Q> AmhoV Am{U Ë`m§Zm {nÎm ‘yÌme` Zmhr.
4) {H$S>Zr‘Ü ò 5-7 bmo~ AgVmV.

23) Among the following, which one is the characteristic feature of the order Proboscidea ?

1) The soles of the feet are covered with soft and fatty cushion white elastic fibres.

2) Ears are like the radiator of a car.

3) They are ruminants and have no gall bladder.

4) The kidney has 5-7 lobes.

24) ^mbm ho AmoiIÊ`mgmR>r dmnabo OmUmao ‘hÎdmMo d¡{eï²>` Amho -
1) ‘mobwñH$m 2) AmW«m}nmoS²g 3) H$sQ>H$ 4) Zo‘mQ>moS>

24) The spear is an important characteristic used for identification of -

1) Mollusca 2) Arthropodes 3) Insects 4) Nematodes

25) {dfmar gmnm§‘Ü ò H$moUË`m J«§Wr ~XbyZ {df J«§Wr ~ZVmV?
1) go~o{e`g J«§Wr 2) goé{‘Zg J«§Wr 3) bmi J«§Wr 4) A§V…òmdr J«§Wr

25) In poisonous snakes which glands are modified to form poison gland ?

1) Sebaceous gland 2) Ceruminous gland 3) Salivary gland 4) Endocrine gland

CÎmao - (15) àmUr eara{dkmZ

1-3 2-2 3-2 4-3 5-3 6-2 7-4 8-2 9-2 10-1
11-4 12-3 13-1 14-2 15-1 16-3 17-2 18-2 19-1 20-1
21-3 22-2 23-3 24-4 25-3
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(16) Cn ẁº$ àmUr
1) gwH$boë`m aº$s (blood meal ) ‘Ü¶o ...........% Zm`Q´moOZ AgVo.

1) 10 Vo 12 2) 12 Vo 15 3) 4 Vo 10 4) 13
1) The dried blood meal contains .............  % nitrogen.

1) 10 to 12 2) 12 to 15 3) 4 to 10 4) 13

2) A‘o[aHo$Vrb S>m°³Q>a g§emoYH$m§À¶m EH$m nWH$mZo  EH$m àmÊ¶mMo öX¶ OZwH$s¶ ~Xb H$ê$Z ‘mZdr earamV ~gdbo. Vmo
àmUr H$moUVm Amho?
1) ~¡b 2) Sw>¸$a 3) Hw$Ìm 4) ‘mH$S>

2) A team of doctors in the US successfully transplanted a genetically modified heart of an animal

into a human body. Which of the following animal has been used for the said surgery ?

1) Bullock 2) Pig 3) Dog 4) Monkey

3) O¡d-h{~©gmBS²g‘Ü ò H$moUË`m gyú‘Ordm§Mm dmna VUm§À`m {Z §̀ÌUmgmR>r gdm©V OmñV Ho$bm OmVmo?
1) ~waer 2) ~°ŠQ>o[a`m 8) ìhm`ag 4) Zo‘mQ>moS²g

3) In bioherbicides which micro organism is most commonly used for controlling weeds ?

1) Fungi 2) Bacteria 8) Viruses 4) Nematodes

4) H$moUVo IV ho O¡{dH$ IV åhUyZ AmoiIbo OmVo ?
a) Jm§Sy>i IV b) eoUIV c) am¶Pmo{~¶‘ d) {hadirMo IV
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) ’$º$ (c)

3) ’$º$ (d) 4) (a), (b) Am{U (d)

4) Which fertilizer is known as Bio-fertiliser ?

(a)  Vermicompost (b)  farmyard Manure (c)  Rhizobium (d)  Green Manure

Answer Options :

1)  (a), (b) and (c) 2) Only (c) 3) Only (d) 4)  (a), (b) and (d)

5) Heterorhabditidae Hw$Qw>§~mVrb E§Q>mo‘mon°WmoOo{ZH$ Zo‘mQ>moS²gMm ......... gh nañna g§~§Y AgVmo.
1) Zmogo‘m 2) ’$moQ>moah°~S>g 3) ~°{gbg 4) ~°Š ẁbmoìhm`ag

5) Entomopathogenic nematodes in family Heterorhabditidae have mutualistic association with ..........

1) Nosema 2) Photorhabdus 3) Bacillus 4) Baculovirus

6) Imbrbn¡H$s H$moUË`m Zm`Q´moOZ {’$pŠg§J ~°ŠQ>o[a`mMm V¥UYmÝ ò Am{U JdVmÀ`m ‘wim§er ghg§~§Y Amho?
1) PSB 2) Rhizobium 3) Azospirillum 4) KSB

6) Which of the following nitrogen fixing bacteria have associative relationship with cereal and

grass roots ?

1) PSB 2) Rhizobium 3) Azospirillum 4) KSB
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7) "Qónm§J' ho ........ nmgyZ V`ma Ho$bobo CËnmXZ Amho.
A) g‘wÐr e¡dmb ~) g‘wÐr H$mH$S>r H$) bm°~ñQ>a eonyQ> S>) ~oS>H$mMo nm`
n¶m©¶r CÎmao :
1) A ’$º$ 2) ~ ’$º$ 3) H$ Am{U S> ’$º$ 4) S> ’$º$

7) ‘Trepang’ is a product prepared from ...........

a) Seaweed b) Sea cucumber c) Lobster tail d) Frog legs

Answer options :

1) a only 2) b only 3) c and d only 4) d only

8) Imbrb {dYmZo nhm …
a) bmIoMo CËnmXZ bogr’$a b°̧ $m {H$S>çmnmgyZ hmoVo.
b) OJmV gdm©V OmñV bmIoMo CËnmXZ ^maVmV hmoVo.
c) ^maVmV go³¶w[aQ>r H$mJX ~Z{dÊ¶mMm H$maImZm hmoe§Jm~mX ¶oWo Amho.
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 2) {dYmZo (b) Am{U (c) ~amo~a AmhoV.
3) {dYmZo (a), (b) Am{U (c) ~amo~a AmhoV. 4) darb gd© {dYmZo ~amo~a ZmhrV

8) Observe the following statements :

a) Lac is produced from lacciferlacca insects.

b) India is the largest producer of lac in the world.

c) The security paper producing factory is at Hoshangabad

Answer options :

1) Statement (a) and (b) are correct 2) Statement (b) and (c) are correct

3) Statement (a), (b) and (c) are correct 4) All the above statements are incorrect

9) OrdajH$ A±Q>rìhoZ‘À`m {Z{‘©VrgmR>r gmnmMo {df Amdí`H$ Amho. `m g§X^m©V, dÝ`Ord (g§ajU) A{Y{Z`‘, 1972
Zwgma Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ’$º$ gaH$mar EOÝgr gn© {df Jmoim H$ê$ eH$Vo.
~) gmnmMo {df Jmoim H$aÊ`mV ñdmañ` Agboë`m H$moUmbmhr nadmÝ`mgmR>r AO© H$aVm òB©b.
H$) ‘w»`‘§Ìr nadmZm Omar H$aVmV.
n¶m©¶r CÎmao …
1) gd© (A), (~) Am{U (H$) 2) ’$º$ (~)
3) ’$º$ (~) Am{U (H$) 4) ’$º$ (~) Am{U (H$)

9) Snake venom is required for manufacture of life-saving Antivenom. In this regard, which of the

following statements are correct as per wildlife (protection) Act, 1972 ?

a) Only government agency can collect snake venom.

b) Anyone interested in collecting snake venom can apply for licence.

c) Chief Minister issues the licence.

Answer Options :

1) All (a), (b) and (c) 2) Only (b) 3) Only (b) and (c) 4) Only (a) and (c)



For Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 59

For Private Circulation Only

10) H$moUVo IV ho O¡{dH$ IV åhUyZ AmoiIbo OmVo ?
a) Jm§Sy>i IV b) eoUIV c) am¶Pmo{~¶‘ d) {hadirMo IV
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) ’$º$ (c)

3) ’$º$ (d) 4) (a), (b) Am{U (d)

10) Which fertilizer is known as Bio-fertiliser ?

(a)  Vermicompost (b)  farmyard Manure (c)  Rhizobium (d)  Green Manure

Answer Options :

1)  (a), (b) and (c) 2) Only (c) 3) Only (d) 4)  (a), (b) and (d)

11) Imbrb {dYmZo nhm …
a) bmIoMo CËnmXZ bogr’$a b°̧ $m {H$S>çmnmgyZ hmoVo.
b) OJmV gdm©V OmñV bmIoMo CËnmXZ ^maVmV hmoVo.
c) ^maVmV go³¶w[aQ>r H$mJX ~Z{dÊ¶mMm H$maImZm hmoe§Jm~mX ¶oWo Amho.
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 2) {dYmZo (b) Am{U (c) ~amo~a AmhoV.
3) {dYmZo (a), (b) Am{U (c) ~amo~a AmhoV. 4) darb gd© {dYmZo ~amo~a ZmhrV

11) Observe the following statements :

a) Lac is produced from lacciferlacca insects.

b) India is the largest producer of lac in the world.

c) The security paper producing factory is at Hoshangabad

Answer options :

1) Statement (a) and (b) are correct 2) Statement (b) and (c) are correct

3) Statement (a), (b) and (c) are correct 4) All the above statements are incorrect

CÎmao - (16) Cn ẁº$ àmUr

1-1 2-2 3-1 4-2 5-2 6-3 7-2 8-3 9-2 10-2
11-3
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(17) hmZrH$maH$ àmUr
1) nyU©nUo ~ao Pmë¶mZ§Vahr Hw$Í`mÀ`m {dð>o‘Ü ò ........ H$mbmdYrgmR>r H°$ZmBZ naìhmoìhm`ag (CPV) g§H«$‘U {XgyZ ¶oVo.

1) 10 {Xdg 2) 8 {Xdg 3) 16 {Xdg 4) 14 {Xdg
1) Canine Parvovirus (CPV) is shed in the faeces of infected dog even after clinical recovery for a

period about .........

1) 10 days 2) 8 days 3) 16 days 4) 14 days

2) S>|½¶y {dfmUyMm àgma Imbrbn¡H$s H$moUVm S>mg Mmdë¶mZo hmoVmo?
1) ES>rg B{Oár 2) ³¶wbo³g 3) A°Zm’o${b³g 4) ßbo~moQ>mo‘g

2) Dengue virus spreads through bite of which of the following mosquitoes ?

1) Aedes aegypti 2) Culex 3) Anopheles 4) Plebotomus

3) ’$m°b Am‘ud‘© noñQ>Mo d¡km{ZH$ Zmd ........... Amho.
1) ñnmoS>moßQ>oam {bQw>am 2) ñnmoS>oßQ>oam ’«w$JrnS>m© 3) ñnmoS>moßQ>oam EpŠgJwAm 4) ñnmoS>moßQ>oam {hßno[ag

3) Scientific name of Fall Armyworm Pest is -

1) Spodoptera Litura 2) Spodeptera Frugiperda

3) Spodoptera Exigua 4) Spodoptera Hipparis

4) eoVmVrb OZmdam§Zm A±W«°Šg amoJ Imbrb H$maH$m§‘wio hmoVmo :
1) OrdmUy 2) {dfmUy 3) àmoQ>moPmoAm naOrdr 4) `mn¡H$s Zmhr

4) Anthrax disease of farm animals is caused by :

1) Bacteria 2) Viruses 3) Protozoan parasites 4) None of these

5) OZmdao/~modmBÝg‘Yrb gm§g{J©H$ ñVZXmhmer g§~§{YV à‘wI amoJH$maH$m‘Ü¶o .........  `m§Mm g‘mdoe hmoVmo
1) ñQ>°{’$bmoH$moH$g Am°[a`g 2) ñQóßQ>moH$moH$g {S>ñJ°bopŠQ>`m
3) EñMo[a{M`m H$mobmB© 4) XmoÝhr (1) Am{U (3)

5) Major pathogen(s) associated with contagious mastitis in bovines include .........

1) Staphylococcus aureus 2) Streptococcus dysgalactiae

3) Escherichia Coli 4) Both (1) and (3)

6) '½b±S>g©' Mo H$maH$ KQ>H$ ......... Amho
1) ~Im}ëS>o[a`m ‘°boB© 2) ‘m`H$mo~°ŠQ>o[a`‘ B¹$s 3) am`Zmoñnmo[a{S>`‘ B¹$s 4) darbn¡H$s H$mhrhr Zmhr

6) The causative agent of 'Glanders' is

1) Burkholderia mallei 2) Mycobacterium equi

3) Rhinosporidium equi 4) None of the above

7) {g{’${cg amoJmg  O~m~Xma Agboë`m ñnm`amo{MQ> ~°ŠQ>o[a`mMm àH$ma ......... Amho.
1) boßQ>moñnm`am 2) ho{bH$mo~°ŠQ>a 3) ~moao{b`m 4) Q́onmoZo‘m

7) The type of spirochaete bacteria responsible for producing syphilis is ..........

1) Leptospira 2) Helicobacter 3) Borrelia 4) Treponema
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8) .......... naOrdr g§gJ© H$ÀÀ`m qH$dm Anwao {eOdbobo Sw>H$amMo ‘m§g Am{U Sw>H$amMo ‘m§g CËnmXZm§À`m godZmZo hmoVmo.
1) {S>{’$bmo~mo{W«̀ ‘ b°ŠQ>‘ 2) A°{Zgm{H$g Egnrnr.
3) Q>o{Z`m gmo{b`‘ 4) Q´m`{MZobm g{n©{bg

8) .......... parasitic infection is caused by consumption of raw or insufficiently cooked pork and pork

products.

1) Diphyllobothrium lactum 2) Anisakis spp.

3) Taenia solium 4) Trichinella spiralis

9) H$ÀMo qH$dm AY©dQ> {eOdbobo Sw>H$amMo ‘m§g Am{U Vem CËnmXZm§À`m godZmZo ........... naOrdr g§gJ© hmoVmo.
1) {S>{’$bmo~mo{W«̀ ‘ b°ŠQ>‘ 2) A°{Zgm{H$g Egnrnr.
3) Q>o{Z`m gmo{b`‘ 4) Q´m`{MZobm g{n©{bg

9) .......... parasitic infection is caused by consumption of raw or insufficiently cooked pork and pork

products.

1) Diphyllobothrium lactum 2) Anisakis spp.

3) Taenia solium 4) Trichinella spiralis

 {nH$mdarb amoJ
1) Vya {nH$mda nS>Umam ñQ>[a{cQ>r ‘moµOoH$ hm amoJ..... ‘wio hmoVmo.

1) {dfmUy 2) {OdmUy 3) ~waer 4) Zo‘mQ>moS²g
1) The sterility mosaic of pigeon pea is caused by

1) Virus 2) Bacteria 3) Fungus 4) Nematodes

2) H$mnyg Jwbm~r ~m|S>Air ........... AdñWoV hm`~aZoQ> H$aVo.
1) A§S>r 2) Aù`m 3) nwnb 4) àm¡T>

2) Cotton Pink bollworm hibernates in ...........stage.

1) Egg 2) Larval 3) Pupal 4) Adult

3) A±p½dZm Q´>rQ>rgr hm ........... dZñnVr da AmT>iUmam naOrdr Zo‘°Q>moS> Amho.
1) Jhÿ 2) Vm§Xÿi 3) Ádmar 4) ~mOar

3) Anguina tritici is the parasitic nematode found on  ............ plant.

1) Wheat 2) Rice 3) Jowar 4) Bajra

4) Imbrbn¡H$s H$moUË`m {Odm‘wio ~m°på~Šg ‘moar‘Ü ò JdVmi amoJ hmoVmo?
1) Nosema bombyeis 2) Beauveria bassiana

3) ~°{gbg ~m°å~rgopßQ>H$g 4) Ý ỳpŠb`a nm°brhoS´mo{gg {dfmUy
4) Which of the following organisms causes grasserie disease in Bombyx mori ?

1) Nosema bombyeis 2) Beauveria bassiana

3) Bacillus bombysepticus 4) Nuclear polyhedrosis virus

5) Emmalocera depresseila ho D$gmÀ¶m amoJmg H$maUr ŷV .......... ¶m H$sQ>H$mMo emór` Zmd Amho.
1) Q>m°n eyQ> ~moAaa 2) ê$Q> ~moAaa 3) ñHo$b 4) B§Q>aZmoS> ~moAaa
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5) Emmalocera depresseila is the scientific name of sugarcane ...........

1) Top shoot borer 2) Root borer 3) Scale 4) Internode borer

6) nmUMQ> ‘D$ am°Q> àm‘w»`mZo ^mÁ`m§‘Ü ò AmT>iVmV
1) ñŠboamoQ>o{Z`m ñŠboamo{Q>Amoa‘ 2) A°{d©{Z`m H°$amoQ>moìhmoam
3) no{Z{g{b`‘ {S>{OQ>‘ 4) am`Pmong ñQ>mobmo{Z’$a

6) The watery soft rot found mostly in vegetables is caused chiefly by

1) Sclerotinia sclerotiorum 2) Erwinia carotovora

3) Penicillium digitatum 4) Rhizopus stolonifer

7) H$moUË`m àH$maÀ`m Zo‘mQ>moS>‘wio ha^am {nH$mV g‘ñ`m {Z‘m©U hmoVmV?
1) ê$Q> Zm°Q> Zo‘mQ>moS> 2) ñnm`ab Zo‘mQ>moS>
3) BAa-H$m°H$b Zo‘mQ>moS> 4) ~wamoB§J Zo‘mQ>moS>

7) Which kind of nematode cause problems in Gram crop ?

1) Root knot nematode 2) Spiral nematode

3) Ear-cockle nematode 4) Burrowing nematode

8) H$m§Xm Am{U bgUmMo ZwH$gmZ H$aUmè`m Imbrb H$sQ>H$m§Mr Zmdo gm§Jm.
1) H$mim nV§J 2) ~J 3) {W«ßg 4) gm° âbm`

8) Name the following pest which damages Onion and Garlic.

1) Black moth 2) Bug 3) Thrips 4) Saw fly

9) Q´m`H$moJ«m‘m Egnrnr (Q´m`H$moJ«m‘°{Q>S>o) naOrdr H$aVo
1) ~m|S>AirMr Air 2) ~m|S>AirMr ß ẁnm
3) ~m|S>AirMr A§S>r 4) ~m|S>AirMr A§S>r Am{U Aù`m

9) Trichogramma spp (Trichogrammatidae) parasitizes the

1) Larvae of bollworm 2) Pupa of bollworm

3) Eggs of the bollworm 4) Eggs and larvae of bollworm

10) Imbrbn¡H$s H$moUVm H$sQ>H$ ‘¥V öX` Am{U nm§T>ao S>moHo$ (dead hearts and white heads) V`ma H$aVmo?
1) br’$ ’$moëS>a 2) {ndim Vm§Xyi ñQ>o‘ ~moAaa
3) Vm§Xyi Ho$g Air 4) Vm§Xyi {hñnm

10) Which of the following pest produces dead hearts and white heads ?

1) Leaf folder 2) Yellow Rice stem borer

3) Rice case worm 4) Rice hispa

11) ^mVm‘Yrb ñQ>o‘ ~moAaagh Jm|YimV Q>mH$Umar H«o$goH$ bjUo amoJOZH$m§‘wio AmhoV
1) nm`[a ẁbo[a`m Amo[aPm 2) hopë‘§Wmoñnmo[a`‘ Amo[aPm
3) Xanthomonas oryzae pv. Amo[a{PH$mobm 4) Xanthomonas oryzae pv. Amo[aPm

11) The “Kresek” symptoms confusing with stem borer in rice are due to the pathogen .....

1) Pyrieularia oryzae 2) Helminthosporium oryzae

3) Xanthomonas oryzae pv. oryzicola. 4) Xanthomonas oryzae pv. oryzae
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12) ^mV nrH$mm‘Yrb ""H«o$goH$ bjUo "" hr ñQ>o‘ ~moAaa amoJmgmaIrM dmQ>VmV, Ë¶mg H$maUr ŷV amoJOZH$ ........
1) nm`[a ẁbo[a`m Amoam¶Pm 2) hopë‘§Wmoñnmo[a`‘ Amoam¶Pm
3) P±Wmo‘moZg Amoam¶Pm nrìhr Amo[a{PH$mobm 4)  P±Wmo‘moZg Amoam¶Pm nrìhr Amoam¶Pm

12) The “Kresek” symptoms confusing with stem borer in rice are due to the pathogen .....

1) Pyrieularia oryzae 2) Helminthosporium oryzae

3) Xanthomonas oryzae pv. oryzicola. 4) Xanthomonas oryzae pv. oryzae

13) H$moUVm ^mVmMm amoJ Xanthomonas campestris pv oryzae ‘wio hmoVmo?
1) ñ’$moQ> 2) å`mZ Hw$OUo
3) OrdmUyOÝ` nmZm§Mm VwQ>dS>m 4) å`mZMm Ìmg

13) Which rice disease is caused by Xanthomonas campestris pv. oryzae ?

1) Blast 2) Sheath rot

3) Bacterial leaf blight 4) Sheath blight

14) Am§V[aH$ H$sS> åhUOo H$m¶?
1) EImÚm ‘{hÝ¶mV dma§dma ¶oUmar 2) EImÚm àXoemV ¶oUmar
3) EImÚm àXoemV dfm©Zwdf} AgUmar 4) EImÚm àXoemV Vrd« ñdê$nmV AgUmar

14) How the occurrence of Endemic pest is defined ?

1) Occurs frequently in months 2) Occurs in few localities

3) Occurs in the same area year after year 4) Occurs in an area in severe form

H$sQ>H$ZmeH$
1) EImÚm MmMUr à¶moJmV H$sQ>H$m§À`m 50% bmoH$g§»¶og ‘maÊ`mgmR>r Amdí`H$ Agboë¶m H$sQ>H$ZmeH$mÀ`m à‘mUmbm

...... åhUVmV.
1) RL50 2) LD50 3) 150 4) KD50

1) The concentration of insecticide required to kill 50% test population experiment of insect is

called as ......

1) RL50 2) LD50 3) 150 4) KD50

2) nm`aoW«rZ Am{U n°S>mo‘-E ...... AmhoV.
1) qgWo{Q>H$, g|{Ð` H$sQ>H$ZmeHo$ 2) AO¡{dH$ H$sQ>H$ZmeHo$
3) Z¡g{J©H$, g|{Ð` H$sQ>H$ZmeHo$ 4) darbn¡H$s H$moUVohr Zmhr

2) Pyrethrine and Padom-A are ......

1) Synthetic, Organic insecticides 2) Inorganic insecticides

3) Natural, Organic insecticides 4) None of the above
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CÎmao  - (17) hmZrH$maH$ àmUr

1-4 2-1 3-2 4-1 5-4 6-1 7-4 8-4 9-4

 {nH$mdarb amoJ
1-1 2-2 3-1 4-4 5-2 6-1 7-1 8-3 9-3 10-2
11-4 12-4 13-3 14-3

H$sQ>H$ZmeH$
1-2 2-3
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(18) newnmbZ, Xw½Yì`dgm`
1) Imbrb {dYmZo {dMmamV ¿¶m …

a) newJUZm 2019 Zwgma amÁ¶mV gw‘mao 3.31 H$moQ>r newYZ hmoVo.
b) newYZmÀ¶m ~m~VrV amÁ¶mMm XoemV gmVdm H«$‘m§H$ Amho.
darbn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) ’$º$ (b)

3) ’$º$ (a) 4) darbn¡H$s Zmhr
1) Consider the following statements :

(a) According to the Livestock Census 2019, the State has about 3.31 crores of its total  livestock.

(b)  The State ranks seventh in the country in terms of livestock.

Which of the statements given  above is/are correct ?

1)  (a) and (b) 2)  Only (b) 3)  Only (a)               4)  None of the above

2) Imbrb Jmoï>r Owidm:
g§H$[aV OmVr    ‘yi amÁ`
A) I[a`ma i) CÎma àXoe
~) IoarJS> ii) H$Zm©Q>H$
H$) H¥$îUm Imoao iii) Vm{‘iZmSy>
S>) H§$J`‘ iv) Amo{S>em
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (iv) (ii) (i) (iii)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (iii) (i)

2) Match the following :

   Breed Origin (state)

a) Khariar i) Uttar Pradesh

b) Kherigarh ii) Karnataka

c) Krishna valley ii) Tamil Nadu

d) Kangayam iv) Odisha

Answer Options :

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (iii) (i)



For Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 66

For Private Circulation Only

3) ^maVr` newd¡ÚH$s` n[afX  ............. hmVmiVo
A) newd¡ÚH$s` gamdmMo {Z`‘Z. ~) newd¡ÚH$s` ì`mdgm{`H$m§À`m a{OñQ>g©Mr XoI^mb H$aUo.
H$) Ë`mÀ`mer g§~§{YV qH$dm Ë`mÀ`mer g§~§{YV ~m~r. S>) newd¡ÚH$s` Am¡fY.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) ’$º$ S>

3) The Veterinary Council of India deals with

a) the regulation of veterinary practice.

b) maintenance of registers of veterinary practitioners.

c) matters connected therewith or ancillary thereto.

d) Veterinary medicine.

Which of the statements given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) d only

4) Imcrcn¡H$s H$moUVm gñVZ àmUr A§S>r KmcVmo?
1) H$m§Jmê$ 2) ßc°Q>rng 3) n|p½dZ 4) ìhoc

4) Which of the following is an egg laying mammal?

1) Kangaroo 2) Platypus 3) Penguin 4) Whale

5) ICAR (2013) ‘mZH$m§Zwgma 400 {H$bmo dOZmÀ`m ñVZnmZ XoUmè`m Jm`rÀ`m XoI^mbrgmR>r XaamoO M`mnM` D$Om©
(Mcal) Amdí`H$ Amho.
1) 10.52 2) 11.82 3) 14.32 4) 12.72

5) The metabolisable energy (Mcal) requirement per day for maintenance of a lactating cow weighing

400 kg as per ICAR (2013) standard is

1) 10.52 2) 11.82 3) 14.32 4) 12.72

6) Jwam§‘Ü ò XwYmMm Vmn Imbrb H$maUm§‘wio hmoVmo:
1) Mmè`mV à{WZo Anwar AgVmV 2) eoVmVrb ñ’w$aX H$‘r hmoUo
3) OmñV Vmn 4) D$Vt‘Yrb H°$pëe`‘Mr nmVir H$‘r hmoUo

6) Milk fever in cattle is caused due to :

1) Inadequate proteins in fodder

2) Decrease in phosphorus in the field

3) High fever

4) Decrease in the level of calcium in tissue fluid

7) “Lumpi-Pro Vacinne” V§ÌkmZm~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho/AmhoV?
a) ICAR-NRCE B{¹$Ýg Am{U ICAR-IVRI BOmWmJa `m§Zr {dH${gV Ho$bo Amho
b) EbEgS>r {déÕ àmÊ`m§À`m amoJà{V~§YH$ bgrH$aUmgmR>r dmnabm OmVmo
c) bgrH$aUmÀ`m EH$m S>mogZ§Va EbEgS>rnmgyZ XrKm©̀ wî` g§ajU XoVo
d) IVBP nwUo `m§Zm ì`mdgm{`H$ CËnmXZmgmR>r gwnyX© Ho$bo Amho
n`m©¶r CÎmao :
1) ’$º$ a Am{U d 2) ’$º$ b 3) ’$º$ c 4) ’$º$ d
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7) Which of the following statement/s is/are incorrect regarding “Lumpi-Pro Vaccine” technology?

a) is developed by ICAR-NRCE equines and ICAR-IVRI Izathagar

b) is used for the prophylactic immunization of animals against LSD

c) gives long life protection against LSD after single dose of immunization

d) is handed over for commercial production to IVBP Pune

Answer options :

1) a and d only 2) b only 3) c only 4) d only

8) N>mZm V`ma H$aÊ`mgmR>r H$moUVo XyY Mm§Jbo Amho?
1) Jm`rMo XyY 2) åherMo XyY 3) eoirMo XyY 4) C§Q>mMo XyY

8) Which milk is best for preparation of Chhana ?

1) Cow milk 2) Buffalo milk 3) Goat milk 4) Camel milk

9) ‘¥Xÿ Xhr XwYmMo .......... ho  d¡{eï²>` Amho
1) H$‘r Ho${gZ Am{U H°$pëe`‘ gm‘J«r 2) H$‘r Ho${gZ Am{U Cƒ H°$pëe`‘ gm‘J«r
3) Cƒ Ho${gZ Am{U H°$pëe`‘ gm‘J«r 4) Cƒ Ho${gZ Am{U H$‘r H°$pëe`‘ gm‘J«r

9) Soft curd milk is characterised by .........

1) Low casein and calcium content 2) Low casein and high calcium content

3) High casein and calcium content 4) High casein and low calcium content

10) Jwam§‘Ü ò XwYmMm Vmn Imbrb H$maUm§‘wio hmoVmo .........
1) Mmè`mV à{WZo Anwar AgVmV 2) eoVmVrb ñ’w$aX H$‘r hmoUo
3) OmñV Vmn 4) D$Vt‘Yrb H°$pëe`‘Mr nmVir H$‘r hmoUo

10) Milk fever in cattle is caused due to :

1) Inadequate proteins in fodder

2) Decrease in phosphorus in the field

3) High fever

4) Decrease in the level of calcium in tissue fluid

11) åherÀ`m XwYm~Ôb Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) JmB©À`m XwYmÀ`m Ma~rnojm åherÀ`m XwYmÀ`m ’°Q>‘Ü ò g°nmo{Z{’$Ho$eZ ìh°ë ỳ Am{U {dViÊ`mMm q~Xy OmñV AgVmo.
b) JmB©À`m XwYmMr Ma~r åherÀ`m XwYmÀ`m Ma~rnojm ã ẁ{Q>[aH$ Am{U Amo{bH$ E°{gS>‘Ü ò OmñV AgVo.
c) åherÀ`m {‘goba Ho${gZÀ`m H$Um§Mm AmH$ma JmB©À`m ‘m`Ho$bnojm ‘moR>m AgVmo
n¶m©¶r CÎmao …
1) a Am{U c ~amo~a AmhoV 2) b Am{U c ~amo~a AmhoV
3) a Am{U b ~amo~a AmhoV 4) gd© MwH$sMo AmhoV

11) Which of the following statements are correct about buffalo milk ?

a) Buffalo milk fat has a higher saponification value and melting point than cow milk fat.

b) Cow milk fat is higher than buffalo milk fat in butyric and oleic acids.

c) The particle size of buffalo miscellar casein is larger than that of cow micelle

Answer options :

1) a and c are correct 2) b and c are correct

3) a and b are correct 4) All are incorrect
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12) ^maVr` newd¡ÚH$s` n[afX  ............. hmVmiVo
A) newd¡ÚH$s` gamdmMo {Z`‘Z. ~) newd¡ÚH$s` ì`mdgm{`H$m§À`m a{OñQ>g©Mr XoI^mb H$aUo.
H$) Ë`mÀ`mer g§~§{YV qH$dm Ë`mÀ`mer g§~§{YV ~m~r. S>) newd¡ÚH$s` Am¡fY.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) ’$º$ S>

12) The Veterinary Council of India deals with

a) the regulation of veterinary practice.

b) maintenance of registers of veterinary practitioners.

c) matters connected therewith or ancillary thereto.

d) Veterinary medicine.

Which of the statements given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) d only

13) {haì`m Mmè`mÀ`m VwbZoV gm`boO‘Ü ò nmofH$ ‘yë`m§Mo H$mhr à‘mUmV ZwH$gmZ hmoVo.
A) gmIaoMo b¡pŠQ>H$ E°{gS>‘Ü ò ê$nm§Va ~) Am§~Q> Md {Z‘m©U H$aUo
H$) n¥ð>^mJ Iam~ hmoUo S>) {H$ÊdZ Am{U JiVr
n¶m©¶r CÎmao :
1) A Am{U ~ 2) ~ Am{U H$ 3) A, ~ Am{U H$ 4) darb gd©

13) As compared to green fodder, there is some loss of nutritive value in silage by .......

a) the conversion of sugars into lactic acid b) producing a sour taste

c) surface spoilage d) fermentation and seepage

Answer options :

1) a and b 2) b and c 3) a, b and c 4) All of the above

14) ‘Ëñ`Xw½Y nmbZmgmR>r ~m§YÊ`mV Ambobm Vbmd ......... åhUyZ AmoiIbm OmVmo.
A) 'ñQ>çy' Vbmd ~) 'JmS>©Z' Vbmd H$) 'aogdo' Vbmd S>) 'Vm§~H$' Vbmd
n¶m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) H$ ’$º$ 4) ’$º$ S>

14) Pond constructed for milk fish culture is known as ..........

a) ‘Stew’ pond b) ‘Garden’ pond c) ‘Raceway’ pond d) ‘Tambak’ pond

Answer options :

1) Only a 2) a and b only 3) c only 4) d only

15) ad§W H$aUmè¶m new‘Ü¶o Zm°Z-àmoQ>rZ Zm`Q´moOZ ẁº$ ómoVm§Mm `eñdrnUo dmna Ho$bm OmV Amho -
A) A‘mo{Z`‘ A°grQ>oQ> ~) A‘mo{Z`‘ ~m`H$m~m}ZoQ> H$) A‘mo{Z`‘ H$m~m}ZoQ> S>) A‘mo{Z`‘ b°ŠQ>oQ>
n¶m©¶r CÎmao :
1) A Am{U S> ’$º$ 2) A Am{U ~ ’$º$ 3) A Am{U H$ ’$º$ 4) darb gd©

15) Non-protein nitrogenous sources being used successfully for ruminants are -

a) Ammonium acetate b) Ammonium bicarbonate

c) Ammonium carbonate d) Ammonium lactate

Answer options :

1) a and d only 2) a and b only 3) a and c only 4) All of the above
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16) ~¡bm§Mo dr ©̀ Jmoim H$aVmZm H¥${Ì‘ `moZrMo AmVrb Vmn‘mZ ................. À`m Xaå`mZ Agmdo.
1) 42°C to 46°C 2) 47°C to 52°C 3) 38°C to 40°C 4) 25°C to 37°C

16) During semen collection of bulls the inner temperature of Artificial Vagina should be between

..........

1) 42°C to 46°C 2) 47°C to 52°C 3) 38°C to 40°C 4) 25°C to 37°C

17) eoù`m§À`m dOZmZwgma X¡Z§{XZ H$moaS>çm nXmWm©Mr Amdí`H$Vm Imbrbn¡H$s H$moUVr Amho?
1) 10 Vo 15% 2) 8 Vo 10% 3) 20 Vo 25% 4) 3 Vo 5%

17) Which of the following is the daily dry matter requirement as per weight in goats ?

1) 10 to 15% 2) 8 to 10% 3) 20 to 25% 4) 3 to 5%

18) [aº$ OmJm ^aÊ`mgmR>r `mo½` n`m©̀  {ZdS>m.
newYZ JUZm 2019 Zwgma, gw‘mao .............. H$moQ>r newYZmgh ‘hmamï´> gmVì`m H«$‘m§H$mda Amho.
1) 5-50 2) 250 3) 3-31 4) 1:25

18) Select the correct option to fill in the blank.

As per Livestock Census 2019, Maharashtra ranks seventh with livestock of about ............. crores.

1) 5-50 2) 250 3) 3-31 4) 1:25

19) Imbrb {dYmZo {dMmamV ¿¶m …
a) newJUZm 2019 Zwgma amÁ¶mV gw‘mao 3.31 H$moQ>r newYZ hmoVo.
b) newYZmÀ¶m ~m~VrV amÁ¶mMm XoemV gmVdm H«$‘m§H$ Amho.
darbn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) ’$º$ (b)

3) ’$º$ (a) 4) darbn¡H$s Zmhr
19) Consider the following statements :

(a)  According to the Livestock Census 2019, the State has about 3.31 crores of its total  livestock.

(b) The State ranks seventh in the country in terms of livestock.

Which of the statements given  above is/are correct ?

1)  (a) and (b) 2)  Only (b) 3)  Only (a) 4)  None of the above

20) Imbrb Jmoï>r Owidm:
g§H$[aV OmVr    ‘yi amÁ`
A) I[a`ma i) CÎma àXoe
~) IoarJS> ii) H$Zm©Q>H$
H$) H¥$îUm Imoao iii) Vm{‘iZmSy>
S>) H§$J`‘ iv) Amo{S>em
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (iv) (ii) (i) (iii)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (iii) (i)
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20) Match the following :

   Breed Origin (state)

a) Khariar i) Uttar Pradesh

b) Kherigarh ii) Karnataka

c) Krishna valley ii) Tamil Nadu

d) Kangayam iv) Odisha

Answer Options :

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (iii) (i)

CÎmao - (18) newnmbZ, Xw½Yì`dgm`

1-1 2-2 3-3 4-2 5-2 6-4 7-3 8-1 9-1 10-4
11-1 12-3 13-4 14-4 15-4 16-1 17-4 18-3 19-1 20-2

CÎmao - (18) newnmbZ, Xw½Yì`dgm`

1-1
2-2
3-3
4-2
5-2
6-4
7-3
8-1
9-1
10-4
11-1
12-3
13-4
14-4
15-4
16-1
17-4
18-3
19-1
20-2
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(19)Hw$ w̧$Q>nmbZ, ‘Y‘mer nmbZ
1) "ñdrQ> [aìhmoë ỳeZ' H$emer g§~§{YV Amho?

1) gmIaoMo CËnmXZ
2) ‘Y‘mer nmbZ Am{U ‘Y Am{U g§~§{YV CËnmXZm§Mo CËnmXZ
3) JmoS> Xw½YOÝ` nXmWmªMo CËnmXZ
4) à{H«$`m Ho$boë`m ’$i CËnmXZm§Mo CËnmXZ

1) What is ‘Sweet Revolution’ related to ?

1) Production of sugar

2) Beekeeping and production of honey and related products

3) Production of sweet dairy products

4) Production of processed fruit products

CÎmao - (19)Hw$ w̧$Q>nmbZ, ‘Y‘mer nmbZ

1-2
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(20) ‘Ëñ`nmbZ
1) ‘Ëñ`Xw½Y nmbZmgmR>r ~m§YÊ`mV Ambobm Vbmd ......... åhUyZ AmoiIbm OmVmo.

A) 'ñQ>çy' Vbmd ~) 'JmS>©Z' Vbmd H$) 'aogdo' Vbmd S>) 'Vm§~H$' Vbmd
n¶m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) H$ ’$º$ 4) ’$º$ S>

1) Pond constructed for milk fish culture is known as ..........

a) ‘Stew’ pond b) ‘Garden’ pond c) ‘Raceway’ pond d) ‘Tambak’ pond

Answer options :

1) Only a 2) a and b only 3) c only 4) d only

2) "Qónm§J' ho ........ nmgyZ V`ma Ho$bobo CËnmXZ Amho.
A) g‘wÐr e¡dmb ~) g‘wÐr H$mH$S>r H$) bm°~ñQ>a eonyQ> S>) ~oS>H$mMo nm`
n¶m©¶r CÎmao :
1) A ’$º$ 2) ~ ’$º$ 3) H$ Am{U S> ’$º$ 4) S> ’$º$

2) ‘Trepang’ is a product prepared from ...........

a) Seaweed b) Sea cucumber c) Lobster tail d) Frog legs

Answer options :

1) a only 2) b only 3) c and d only 4) d only

3) Imbrbn¡H$s H$moUVo A±{Q>~m`mo{Q>Šg Am{U BVa ’$m‘m©H$mobm°{OH$b g{H«$` nXmWmªda H$moi§~r ‘mgmnmbZmV dmnaÊ`mgmR>r
OrAmoE‘Zo ~§Xr KmVbr Amho?
A) Neomycin ~) Šbmoamo’$m°‘© H$) Glycopeptides S>) Dapsene

n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) S> ’$º$ 3) ~ ’$º$ 4) A, ~, H$ Am{U S>

3) Which of following antibiotics and other pharmacologically active substances is/are banned by

GoM for use in shrimp aquaculture ?

a) Neomycin b) Chloroform c) Glycopeptides d) Dapsene

Answer Options :

1) a and b only 2) d only 3) b only 4) a, b, c and d

4) nwT>rc XmoZ {dYmZm§Vrc H$moUVo ¶mo½¶ Amho?
a) ‘mgo ¶m àmUrdJm©V àH$memMo kmZ|{Ð` gdm©V H$‘r {dH${gV AgVo.
b) gnmª‘Ü¶o Mma H$ßnr öX¶ ZgVo.
n¶m©¶r CÎmao …
1) Hoo$di (a) ¶mo½¶ 2) Ho$di (b) ¶mo½¶ 3) (a) d (b) XmoÝhr 4) (a) d (b) XmoÝhr A¶mo½¶

4) Which of the following two statements is correct?

a) Fishes have very poor sense organs for light perception.

b) Four chambered heart is not found in snakes.

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Neither (a) nor (b) is correct
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5) nwT>rc XmoZ {dYmZm§n¡H$s H$moUVo {dYmZ ¶mo½¶ Amho?
a) {gëda {’$e àmUr ‘Ëñ¶dJm©V ¶oVmo.
b) Hw$Í¶mMo OmñVrV OmñV Am¶w‘m©Z 15 df} AgVo.
n¶m©¶r CÎmao …
1) Hoo$di (a) ¶mo½¶ Amho 2) Ho$di (b) ¶mo½¶ Amho
3) (a) d (b) XmoÝhr ¶mo½¶ AmhoV 4) (a) d (b) XmoÝhr ¶mo½¶ ZmhrV

5) Which of the following two statements is correct?

a) silver fish is a true fish

b) Maximum life span of a dog is 15 years

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Neither (a) nor (b) is correct

6) ‘Ëñ` IVm‘Ü ò NPK Mo à‘mU ......, ...... Am{U ...... Amho.
1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%
3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

6) The percent amount of NPK in Fish manure is ......, ...... and ......

1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%

3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

7) Iwë`m g‘wÐmÀ`m nmÊ`mV h°Mar nmibobo VéU ‘mgo gmoS>Uo åhUyZ AmoiIbo OmVo
a) g‘wÐ AMuZ b) gr gm° c) gr a|qMJ d) ñnm°qZJ
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) ’$º$ c 4) d ’$º$

7) Release of hatchery reared young fish in open sea water is known as

a) Sea Urchin b) Sea Saw c) Sea Ranching d) Spawning

Answer options :

1) a only 2) a and b only 3) c only 4) d only

8) b°‘o{bS>oÝg eobÀ`m H$moUË`m Wambm ‘moË`mMr AmB© åhUVmV?
1) Z°{H«$`g 2) {àP‘°{Q>H$ 3) no[aAmoñQ°́H$‘ 4) H$m°pÝMAmo{bZ

8) Which layer of Lamellidens shell is called as “Mother of Pearl” ?

1) Nacreous 2) Prismatic 3) Periostracum 4) Conchiolin

9) ìhob, S>m°pë’$Z BË`mXr àOmVr. _____V§Ì dmnê$Z ‘mabo OmVmV.
1) ’$º$ BboŠQ́moŠ ẁeZ 2) ’$º$ Q́°qnJ 3) ’$º$ hmny©qZJ          4) Q°́qnJ Am{U BboŠQ´moŠ ẁeZ XmoÝhr

9) Species such as whale, dolphin, etc. are killed using ______ technique(s).

1)  only electrocution 2)  only trapping

3)  only harpooning 4)  both trapping and electrocution



For Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 74

For Private Circulation Only

10) Iwë`m g‘wÐmÀ`m nmÊ`mV h°Mar nmibobo VéU ‘mgo gmoS>Uo åhUyZ AmoiIbo OmVo
a) g‘wÐ AMuZ b) gr gm° c) gr a|qMJ d) ñnm°qZJ
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) ’$º$ c 4) d ’$º$

10) Release of hatchery reared young fish in open sea water is known as

a) Sea Urchin b) Sea Saw c) Sea Ranching d) Spawning

Answer options :

1) a only 2) a and b only 3) c only 4) d only

11) b°‘o{bS>oÝg eobÀ`m H$moUË`m Wambm ‘moË`mMr AmB© åhUVmV?
1) Z°{H«$`g 2) {àP‘°{Q>H$ 3) no[aAmoñQ°́H$‘ 4) H$m°pÝMAmo{bZ

11) Which layer of Lamellidens shell is called as “Mother of Pearl” ?

1) Nacreous 2) Prismatic 3) Periostracum 4) Conchiolin

12) Imbrbn¡H$s H$moUVo A±{Q>~m`mo{Q>Šg Am{U BVa ’$m‘m©H$mobm°{OH$b g{H«$` nXmWmªda H$moi§~r ‘mgmnmbZmV dmnaÊ`mgmR>r
OrAmoE‘Zo ~§Xr KmVbr Amho?
A) Neomycin ~) Šbmoamo’$m°‘© H$) Glycopeptides S>) Dapsene

n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) S> ’$º$ 3) ~ ’$º$ 4) A, ~, H$ Am{U S>

12) Which of following antibiotics and other pharmacologically active substances is/are banned by

GoM for use in shrimp aquaculture ?

a) Neomycin b) Chloroform c) Glycopeptides d) Dapsene

Answer Options :

1) a and b only 2) d only 3) b only 4) a, b, c and d

CÎmao - (20) ‘Ëñ`nmbZ

1-4 2-2 3-4 4-2 5-4 6-4 7-3 8-1 9-3 10-3
11-1 12-4
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(21) dÝ¶àmUr d g§a{jV àmUr
1) 'H$m°badmbr dmKrU', 'n|M Mr amUr', 'gwna ‘m°‘' Aem {d{dY ZmdmZo AmoiIë¶m d 11 dfmªV 29 ~N>S>çm§Zm OÝ‘ XoUmè¶m

dm{KUrMo ‘¥Ë¶y g‘¶r d¶ ...... df} hmoVo.
1) 15 2) 13 3) 27 4) 17

1) The tigress known with various names such as ‘Collarwali Baghin’, ‘Pench ki Rani’, ‘Super Mom’

who gave birth.to 29 cubs in 11 years died at the age of .........

1) 15 2) 18 3) 27 4) 17

2) amï´>r¶ CÚmZo/A^¶maÊ¶- g§a{jV àmUr
a) A~mohma- H$midrQ> (harU) b) ‘m¶Ur- njr
c) amYmZJar- Jdm d) n|M- Añdb
darb ~amo~a Agboë¶m/Agbobr OmoS>r/OmoS>çm gm§Jm.
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a), (b) Am{U (c) 4) darbn¡H$s gd©

2) National park/sanctuary  — protected animal

(a)  Abohar     —  Deer (b)  Mayani     —  Birds

(c)  Radhanagari    —  Bison (d)  Pench      —  Bear

State the correct pair/s given above.

1)   Only (a) and (b) 2)  Only (b) and (c)

3)  Only (a), (b) and (c) 4)  All of the above

3) Imbrbn¡H$s H$moUVr OmoS>r/OmoS>çm dÝ¶àmÊ¶m§Mr Zmdo Am{U d¡km{ZH$ Zmdo ¶m g§X^m©V ~amo~a Amho/AmhoV?
A) Am{e¶m¶r qgh - n±ÝWoam {bAmo nagrH$m ~) nÅ>oar dmK - n±ÝWoam Q>m¶J«rg
H$) ^maVr¶ J|S>m - am¶Zmo{ga²g ¶w{ZH$moaZrg S>) Wm‘rZ h[aU - gad²g B©bXr
n¶m©¶r CÎmao …
1) ’$º$ ~ Am{U H$ 2) ’$º$ H$ Am{U S> 3) ’$º$ A Am{U H$ 4) darbn¡H$s gd©

3) Choose the correct pair/pairs of the animal/animals and their scientific name/names ?

a.  Asiatic lion - Panthera leo persica b.  Royal Bengal Tiger - Panthera tigris

c.  Indian Rhinoceros - Rhinoceros unicornis d.  Thamin Deer -Cervus eldi

Answer Options :

1)  Only b and c 2) only c and d 3)  Only a and c 4)  All of the above

4) OmoS>çm bmdm …
ñV§̂  - I (àOmVr) ñV§̂  - II (àH$ma)
a) ^maVr¶ J|S>m i) {dai / ¹${MV
b) Am{e¶mVrb hÎmr ii) YmoH$mXm¶H$ Agboë¶m
c) dmid§Q>mVrb H$moëhm iii) bwá / Zï> hmoUmè¶m
d) Jwbm~r S>moHo$ Agbobo ~XH$ iv) g§doXZerb
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iv) (i) (iii)

3) (iv) (ii) (i) (iii)

4) (i) (iii) (ii) (iv)

4) Match the following :

Column - I (Species) Column - II (Type)

a) Indian Rhino i) Rare

b) Asiatic Elephant ii) Endangered

c) Desert Fox iii) Extinct

d) Pink Head Duck iv) Vulnerable

Answer Options  :

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iv) (i) (iii)

3) (iv) (ii) (i) (iii)

4) (i) (iii) (ii) (iv)

5) Am{H©$AmoßQ>o[a³g hm Imcrcn¡H$s XmoZ dJmªZm OmoS>Umam n¥ð>d§er¶ àmUr hmoVm :
1) C^¶Ma Am{U garg¥n 2) garg¥n Am{U njr
3) njr Am{U gñVZ 4) ‘Ëñ¶ Am{U C^¶Ma

5) Archaeopteryx was a connecting link between the following two classes of verebrates :

1) Amphibia and Reptilia 2) Reptilia and Aves

3) Aves and Mammalia 4) Pises and Amphibia

6) ...... ¶m àmUrdJm©Vrb gXñ¶ ho A°Zo{bS>mVrb {ÛqbJr àmUr hmoV.
1) nm°{b{MEQ>m d Am°{bJmo{MEQ>m 2) Am°{bJmo{MEQ>m d {hê$S>r{Z¶m
3) {hê$S>r{Z`m d AmaH$sA°Zo{bS>m 4) nm°{c{MEQ>m d {hê$S>r{Z`m

6) Members of ...... class of Annelida are hermaphrodite animals.

1) Polychaeta and Oligochaeta 2) Oligochaeta and Hirudinea

3) Hirudinea and Archiannelida 4) Polychaeta and Hirudines

7) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
  dÝ` àmUr           d¡km{ZH$ Zmd
A) qMH$mam i) Q>oQ´mgoag ¹$m{S´H$m°{Z©g
~) H$mim haU ii) J°Po{b`m ~oZoQ>r
H$) Mm¡qgJm iii) ~mogobm’$g Q́°JmoH°$‘bg
S>) ãby ~wb iii) A±{Q>bmon g{d©H$màm
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n¶m©¶r CÎmao :
(A) (~) (H$) (S>)

1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)

7) Match the pairs :

Wild animals       Scientific name

a) Chinkara i) Tetracerus quadricornis

b) Black Buck ii) Gazelia bennetti

c) Chowsingha iii) Boselaphus tragocamelus

d) Blue Bull iv) Antilope cervicapra

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)

8) hÎmt‘Ü ò J ©̂YmaUoMo {ZXmZ Imbrb AmYmamda Ho$bo OmD$ eH$Vo :
A) 10 AmR>dS>çm§Z§Va BñQ´moOoZMr dmT>bobr nmVir
~) àmoñQ>°½b±{S>ZMr nmVir 3 Vo 8 AmR>dS>çmV dmT>br
H$) àmob°pŠQ>Z 4-6 ‘{hÝ`m§V 200-600 nQ>rZo dmT>Vo
S>) 15 {Xdgm§Zr AëQ´mgmoZmoJ«m’$s
n¶m©¶r CÎmao :
1) (A) Am{U (~) 2) (H$) ’$º$ 3) (A) ’$º$ 4) (A), (~), (H$), (S>)

8) The pregnancy diagnosis in Elephants can be made on the basis of following :

a) Elevated level of estrogen after 10 weeks

b) Prostaglandin level increased at 3 to 8 weeks

c) Prolactin rises 200-600 times higher during 4-6 months

d) Ultrasonography after 15 days

Answer Options :

1) (a) & (b) 2) (c) only 3) (a) only 4) (a), (b), (c), (d)

9) gaS>çmgmaIo {XgUmao C^¶Ma g°c°‘°ÊS>a (Salamander) ............. JUmV ‘moOVmV.
1) {OåZmo{’$AmoZm (Gymnophiona) 2) ¶wamoS>ocm (Urodela)

3) A°Ý¶wam (Anura) 4) AnmoS>m (Apoda)

9) Lizard like amphibians (Salamander) belong to the order.

1)  Gymnophiona 2) Urodela 3) Anura 4) Apoda

10) Q>oboAmoñQ>r ¶m gwnaAm°S>©a‘Yrb ...... ¶m àmÊ¶m§Zm gm‘mÝ¶nUo 'CS>Umao ‘mgo' Ago åhUVmV.
1) A±½¶wBbm 2) E³PmogrQ>g 3) {hßnmoH°$ång 4) ho‘rèh±ång

10) In superorder Teleosti ...... animals are commonly called as 'Flying Fishes'.

1) Anguilla 2) Exocoetus 3) Hippocampus 4) Hemirhamphus



For Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 78

For Private Circulation Only

11) amï´>r` ì`mK« g§dY©Z àm{YH$aUmMr ñWmnZm dÝ`Ord (g§ajU) A{Y{Z`‘, 1972 A§VJ©V _____ ‘Yrb XwéñVrZwgma
H$aÊ`mV Ambr.
1) 2002 2) 1991 3) 2006 4) 2017

11) The National Tiger Conservation Authority was introduced under the Wild Life (Protection) Act,

1972, as per the amendment in the year ______.

1)  2002 2)  1991 3)  2006 4)  2017

12) 'H$m°badmbr dmKrU', 'n|M Mr amUr', 'gwna ‘m°‘' Aem {d{dY ZmdmZo AmoiIë¶m d 11 dfmªV 29 ~N>S>çm§Zm OÝ‘ XoUmè¶m
dm{KUrMo ‘¥Ë¶y g‘¶r d¶ ...... df} hmoVo.

1) 15 2) 13 3) 27 4) 17
12) The tigress known with various names such as ‘Collarwali Baghin’, ‘Pench ki Rani’, ‘Super Mom’

who gave birth.to 29 cubs in 11 years died at the age of .........

1) 15 2) 18 3) 27 4) 17

13) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
  dÝ` àmUr           d¡km{ZH$ Zmd
A) qMH$mam i) Q>oQ´mgoag ¹$m{S´H$m°{Z©g
~) H$mim haU ii) J°Po{b`m ~oZoQ>r
H$) Mm¡qgJm iii) ~mogobm’$g Q́°JmoH°$‘bg
S>) ãby ~wb iii) A±{Q>bmon g{d©H$màm
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)

13) Match the pairs :

Wild animals       Scientific name

a) Chinkara i) Tetracerus quadricornis

b) Black Buck ii) Gazelia bennetti

c) Chowsingha iii) Boselaphus tragocamelus

d) Blue Bull iv) Antilope cervicapra

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)



For Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 79

For Private Circulation Only

14) amï´>r¶ CÚmZo/A^¶maÊ¶- g§a{jV àmUr
a) A~mohma- H$midrQ> (harU) b) ‘m¶Ur- njr
c) amYmZJar- Jdm d) n|M- Añdb
darb ~amo~a Agboë¶m/Agbobr OmoS>r/OmoS>çm gm§Jm.
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a), (b) Am{U (c) 4) darbn¡H$s gd©

14) National park/sanctuary  — protected animal

(a)  Abohar     —  Deer (b)  Mayani     —  Birds

(c)  Radhanagari    —  Bison (d)  Pench      —  Bear

State the correct pair/s given above.

1)   Only (a) and (b) 2)  Only (b) and (c)

3)  Only (a), (b) and (c) 4)  All of the above

15) nwZd©gZ, {bß §̀VaU, ao{S>Amo-H$m°b[a¨J BË`mXrgmR>r àmÊ`mbm em§V H$aÊ`mMr à{H«$`m. S>mQ>© JZ dmnaUo åhUyZ AmoiIbo
OmVo:
1)  {df~mYm 2)  em§VVm 3)  {dÚwV Xm~ 4)  aS>mQ>qnJ

15) The process of sedating an animal for rehabilitation, translocation, radio-collaring, etc. using a

dart gun is known as:

1)  poisoning 2)  tranquillising 3)  electrocution 4)  radartapping

16) àdoe Am{U bm^-dmQ>n _____A§VJ©V V`ma Ho$bo Jobo.
1)  ~Z© H$ÝìhoÝeZ 2)  dÝ`Ord (g§ajU) H$m`Xm 3)  ZmJmò m àmoQ>moH$m°b 4)  n`m©daU g§ajU H$m`Xm

16) Access and benefit-sharing’ was formulated under the ______.

1)  Bern Convention 2)  Wild Life (Protection) Act

3)  Nagoya Protocol 4)  Environmental Protection Act

17) Imbrbn¡H$s H$moUVr OmoS>r/OmoS>çm dÝ¶àmÊ¶m§Mr Zmdo Am{U d¡km{ZH$ Zmdo ¶m g§X^m©V ~amo~a Amho/AmhoV?
A) Am{e¶m¶r qgh - n±ÝWoam {bAmo nagrH$m ~) nÅ>oar dmK - n±ÝWoam Q>m¶J«rg
H$) ^maVr¶ J|S>m - am¶Zmo{ga²g ¶w{ZH$moaZrg S>) Wm‘rZ h[aU - gad²g B©bXr
n¶m©¶r CÎmao …
1) ’$º$ ~ Am{U H$ 2) ’$º$ H$ Am{U S> 3) ’$º$ A Am{U H$ 4) darbn¡H$s gd©

17) Choose the correct pair/pairs of the animal/animals and their scientific name/names ?

a.  Asiatic lion - Panthera leo persica b.  Royal Bengal Tiger - Panthera tigris

c.  Indian Rhinoceros - Rhinoceros unicornis d.  Thamin Deer -Cervus eldi

Answer Options :

1)  Only b and c 2) only c and d 3)  Only a and c 4)  All of the above

18) OmoS>çm bmdm …
ñV§̂  - I (àOmVr) ñV§̂  - II (àH$ma)
a) ^maVr¶ J|S>m i) {dai / ¹${MV
b) Am{e¶mVrb hÎmr ii) YmoH$mXm¶H$ Agboë¶m
c) dmid§Q>mVrb H$moëhm iii) bwá / Zï> hmoUmè¶m
d) Jwbm~r S>moHo$ Agbobo ~XH$ iv) g§doXZerb
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iv) (i) (iii)

3) (iv) (ii) (i) (iii)

4) (i) (iii) (ii) (iv)

1) Match the following :

Column - I (Species) Column - II (Type)

a) Indian Rhino i) Rare

b) Asiatic Elephant ii) Endangered

c) Desert Fox iii) Extinct

d) Pink Head Duck iv) Vulnerable

Answer Options  :

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iv) (i) (iii)

3) (iv) (ii) (i) (iii)

4) (i) (iii) (ii) (iv)

19) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
  dÝ` àmUr           d¡km{ZH$ Zmd
A) qMH$mam i) Q>oQ´mgoag ¹$m{S´H$m°{Z©g
~) H$mim haU ii) J°Po{b`m ~oZoQ>r
H$) Mm¡qgJm iii) ~mogobm’$g Q́°JmoH°$‘bg
S>) ãby ~wb iii) A±{Q>bmon g{d©H$màm
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)

19) Match the pairs :

Wild animals       Scientific name

a) Chinkara i) Tetracerus quadricornis

b) Black Buck ii) Gazelia bennetti

c) Chowsingha iii) Boselaphus tragocamelus

d) Blue Bull iv) Antilope cervicapra

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)
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CÎmao - (21) dÝ¶àmUr d g§a{jV àmUr

1-4 2-3 3-4 4-2 5-2 6-2 7-1 8-2 9-2 10-2
11-3 12-4 13-1 14-3 15-2 16-3 17-4 18-2 19-1


